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The unsupported length of a R.C. column is 3.2 m, the effective length of the column,

when both ends are held in position and restrained against rotation, is

. e - (B) 3.20m

f) 2.08 m L (D) 640m

(E)  Answer not known

<. 8. granfle Seflwrm Beroneng) 3.2 8. gnanflen Grean® (piyeysaiigid ellevsgib, spHéluyb
sH&sLLL [Hater GUTLpS IS LIWGID) (<=1) eTLlg6u Bemid ereucueTe? .
(A) 1.08.8 i (B) 3.20 8

() 2088 : (D) 6.40 8

E) el GsNweiicrened

The slénderﬁess ratio of the steel column is

l L
) = - )
rmin ; Tex
L KL

(© a ' L i

(E) Answer not known

_ Gr.,;;@@(r_r;@suﬂem&uﬂléﬂ Quéeiw e9dsn

- is - e b

rmjn . s r:cx
Eme o
: ryv rmin

E) oL Asfucddma
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3. ‘What are the following loads to be consulered as vertical loads carrled by hntelf-,‘?

(a)

(b)
(©

@
®)
A
D)
(B)

Distributed loads from the dead we1ght of the lintel and the masonry wall

above the lintel and any floor and/or roof

Dead and live loads supported by the masonry

Concentrated loads from floor beams, roof ]OIStE-; and other members that
frame directly into the wall

(a) and (b) only

(a) and (c) only
(a), (b) and (c)
(b) and (c) only

Answer not known

amfle alllLgsme sws&sLLEL QemEss sowsamss sEHSLILEOL GaeimD sems6r

Wreneu?
(@  eumle oflL i, surru_fﬂsu dllLgdlnE Coaerer Garss Ceumens seul HMID Serid/ :
: aamsa)r;uﬁ]aﬂ@,r_r;@j QU(HLD ﬁsmeu& FENLD
- .(b) Qarsg Ceusmavulenme g,rrré;a;ﬁu@m Blenen LoHmid G)wirkiE &enLo
(©  sooy el tiser meny 6flLL g6 mmgm seufilen Bgierer LHD 2 MR HHS cumHLD
-G&gﬁ]u@
A)  (a) opmid (b) LLEW
®) (@ wppid © 0 Gid
© (@, ) wppid©
© ) 0opo @ wieid ,
®

CECIL/2021

eflenL Qg Mwelvene



While designing the staircase with central stringer beam, the stringer beam is
designed as ' :

(A) simply supportéd beam ' (B) cantilever beam

(C) fuied beam ' (DM—beam

(E) Answer .not known :

BH Osmd el Lib Qé;rr_a&m. LilgSsLenl G).J.!.(}G}JG.DLDGIS@L'D Gurmrg é{g;smﬂ g Gl

6L 1oMm& Quig eUEnLO&SLILI(HID. ' ' :

(A) @@ wevar gridl Qenepr L wors (B) @ qpomen smadl Caram 6dllLors

(C) ' Blapaviime 615]1_'_1__LD|T55 i D) T i Liorsg Ty . -
) do. Gofiitiowe '

In the design of beams for shear, the nominal shear stress, 7,, is given 'by

Vv ' 4
St y BY'/, , =t
(A) TV _ ( Z" bd

D _

v ' ; : 74

-l D oo,
_(C) fV BD ' 0 5 B

(E) Answer not known

Qeul’_ () ellene .s:rrr'rﬁj(e_r, AL Lrsaflan auig atantoli e Quwirerey G@Jl'_@é,g;ramseq. Ty GGG,

smraflurssiul_ L Qeul_ () edlens

v, .
e SR . . . .
bD  sseb X Qwrgs (1) (2wyb)

B) r. LV, _ sryelurésuul L Geul { Aens
. b SISO X LWEID pLowb (1) (2-wid)
W= V., _ smeflurssiiul L Qeul @ elas
v 5 :
. B0 QTS iFD X CTSS SO (<3i) (2-wiid)
o vV, sryenilwrsslul L Geul () Aens
o e

"Bd Qg SiGeLD X LD <o (<31)(2wiibd)
E) e Qg flwelldvena ' :
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6. Young’s modulus of concréte (E) 1s given by
(A FE =1000 fck .
(BL/ E = 5000 tiﬁes square root of fck
(C) . E =5700 fck '
D) E-= 10000 times square root of fck
- fck = characteristies strength of .c'oncrete

(E)  Answer not known

spareyuilen wi @mraamﬁmg,j
A) E =1000 fck
®) E = fok én auiiés gpoiline 5000 wLiis
(©) E=5700 fck '
D) E = auitss gparsBan 10000 L fek
fck- spsrenyulen umileno cueleno

(E) &fenr Qsflweleveme

7. For the simply supported beams and slabs, the basic value of span to effective depth
S ratio is

k) g - ' @

(CL/20 e (D) 26

(E) Answer not known

grgmyemons sLGUTT.  Qelwlu@n oA L kiser LD[DQ]LD GLOTUISERES, evUTalHEd

LwgeTer ploib eldsSSHE 2-6rer Siig LiLient iy
@7 e (B) 10
€ 20 ' - (D) 26
(E) | eflenL Qg flweSerenan |

CECI/2021 - 6 £ s



; The maximum spacing of inclined stirrups (45°) in a beam is less fhan 300 mm and
enf d _ _ ®) 0.75d
0 1.25d B 5 D) D

(E) Answer not known

Q@ 586 (flLib) 45° smileuran Slqs@sTERed (dvigriicv)ldr oifs Uls GaGasal
300 .18 wHmid | = S, '

@ d | ®) 0.75d

(C) 1.25d _ "D D

(E) eflan @g;lﬂu_lsﬁsbsmu

If the Independant of footings of two columns are connected by a beam, called as
(A) Mat foﬁndations |

(B) Combined footings

| (C)J Strap footing

(D) Spread footings

(E) Answer not known.

_gaﬂgg,suﬂ wrenr Qe granseflan g SHEeThiGEMET .@smwé;@d) 2 s8lrsdlen Quwfanar
ereueUT Siep&S G b, :

(A) UM <21lq SSETLD

B) sl soLssTOD

©) ule assml;é;a;rr@

D) =& soLssTD

(E) ofleni Gg,rﬂueﬁlsbmsu
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10.  Slump value recommended for ordinary R.C.C. work for beams and slabs is.
(A) 20 to30 mm
@)% 50 to 100 mm
(C) 12to25 mm
D) 75to150 mm

(E) Answer not known

aupssomar aigiapligwr  Fufllig .a'sg')arrcﬁ)ry Gaumasafles &l Lhisdr wHHD UswsET
Simwuugparean (Lig.e s Cargameanuder epaLb) L.Ifﬂ}j’;@@f}é_iiﬁiﬁlul'_l_ sflay gy

A) 20-308.8 '

(B) 50-100 4.8

C) 12-258.18

D) 75-1508.18

E) el Qg_r,rﬂ weSlevanev

11. To compensate for the reduced workability — are commonly added to
high strength mixtures.

- (A)  Accelerators
(B) Retarders
(C) Air entraining Admixture
(D)\/Super plasticisers

- (E) Answer not kﬁown

Qurgieuns oifls Sper Qsrar, s ag,aﬁei) Qeweurigemar @mmﬁugﬁ)@_ &l
QewLb cuensLITaNg).
(A) GICE Ty
(B) @b sdaer
(©) smlerar 2 a1Ger Qeg)ssib sSaema sal {1
- (D) GOENLD 26rL_Ig &6
E) eler Asflweloane
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= 12,

13

14,

Certain type of fungi feed on wood and during feeding, they attack on wood and
convert it into dry powder form. This is known as -

(AMDry vl : (B) Blue stain
(C) Heartrot - (D) Sap stain

"{E) Answer not known

R(H uMSWITET STaTTenget e b CasmLbE igl STUHS CuTy Wins TN WP®DES
A smupg gl _ (B) q@ - Gvlg.EDre
©€) @swyrl (D) e evigemyen

(E) d&fen Qsflwelcrena

The insects wlﬁch are usually responsible for decay of timber is
(A)./Termites " (B) Grasshopper_
(C)  Spider (D) Dragonfly

(E)  Answer not known . e

ol

Gurrgjsu & wiseflan Hlange s sreoner Lsfadr
(A) sepwurenEeT . (B) &grevCanmiium
(C) Saopd i (D) gyrse..Liemer
E) e OzMwedema :

Wood is impregnated with creosote oil in order to ;

(A) Change its colour (B)\Arotect against fungi
(C) - Protect the annular layers (D) Fill up the pores

(E) Answer not known ' | e

e g AMCUTGe . eramblamenu CarliLg)

A) HowrHps®s 2 (HeuTss I (B) srammansafiedl g sL9ES
€)  eufiser e mamsmodm @@uumg sh&s (D) samersmen D@L LILSHE
(E) eoleor Gzl welldena
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15.  Fine Aggregates should pass through one of the following IS sieve
A) 2.35mm : _ (B) 45 u
(CxS 4.75 mm D) 75 u

(E) Answer not known

margRaed (awre) Spsaranb e IS sdaamL aifiGu Geaplmhés CouamGio.
(A) 2.358.5. . B) 45 ,u. -'

© 4.758.5. D) 754

(E) e Ogflweldeme ' | '

16. . In aggregates, the percentage by weight of particles having least dimension less than
three-fifth of their mean dimension is termed as

(AM Elongation index (B) Flakiness index
(C) Fineness index (D) Fineness modulus

(E) Answer not known

s_(Hwrer gaedlsaflen, .;a{gf,]m 2 arer gsarsaflen erenLuldle &geﬁgm Sjeupilen syref ﬁ}m;_r,g‘ﬁev
eLpeTled %31_56’6)5 L Gepeuns QHHSTD 2igl el SiessiiuHEDE?

A) B @hluI QL awr (B) sla @huS QL e

C) mewwws @;ﬂ uSC_ Qe (D) _@6&51’6&)1.0&5 Qs

(E) &len Qsflwelcreney '

17.  In aggregates, the percentage by weight of particles present in it whose greatest
dimension (length) is greater than nine-fifth of their mean dimension, is termed as

(A) Elongation index : (BMlakiness index
(C) Fineness modulus . i (D) Fineness index
(E) Answer not known .

sl ([wrer goelsaier, wifled o drer gisearaaiian erenulen Fgaigb, seupdlen synefl Bersdled
el pbg Lhims Nl HFSTE Q) (HHSTED gl CTELEUMD DMPHSL L_l@éig)g,j?
@)  BA GO G ar (B) Sibunés GAGLOL e
C(©)  peimerws Qs - D) peew GHS.ALan
(E) &l Asflweleene
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15.

19

Vicat’s apparatus is used to determine the .

(AL/Initial setting and final setting time

(B)
(©)
@)

®

Soundness of cement
Tensile strength
Compressive strength

Answer not known

NEUSTL ©_LIGFERTLD 6TSHENET a;aﬁnf@lﬁlqé;as vwerGEng?

@A) gaussb opyb gae God Corsms
(B)  AQuar e saaT e
©)  Qusgdepdau
D) <wseD a@ﬁmm 4
(E) o Qsflweferane
A bat is the'portioh ofa
(A)  Wall not exposed to weather

(B Brick cut across the width

(C) Wall between facing and backing
(D)  Brick cut in a such manner that its one long face remains uncut
(E) Answer not known
.Bat ergasfian g(m LiGHLmE@Ld
. A)  ser @m;bsm&@iurr@- @&5CUnsTDe
(B) Qersdler sssde GNESTE Geul g wig)
(C) aeuflen wemymid wHMID 1Gerymid
D) per gpsiiy Gleu { Loy BméEWL Qenisd
(E) efleni_ Ggﬁ]meﬁ]sbmm

11
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20.  Relative density of sand indicates
(A)  Density of sand compared. with density of water
(B) . Bulk density of sand ;
(C) - Bulking of sand
-(DL/ Looseness of sand

(E) Answer not known

wemTedlanm LI TS @GmILILg)

A)  Sllen SILTHS WL enmen wesmantlan DL THElenw @UillL g
(B)  wewiedlen Lan s | &

(C) wewredar 2 L1

(D)  wewredlen SeTTeYS g;j&Tmm

E) oGerr Qg-lﬂu.:@ﬁleﬁmwl

21. ' Determination of percentage of individual grain size preéent in the soil is known as
(A)  Stability analysis
(B) Compressability analysis
(C) Strength analysis
(D).,/ Grain size analysis
(E) Answer not known

werenile QméEh sefliiul L gisaflar sereler sgeigsms HlirammuiiiLig)
(Y GRS e Lty |
B)  sbrevbe g LEhLmiay

B G i

D) szafler emay LiGUUMLGY

(E) odenL @gﬁ]msﬁ]sﬁm@ '
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The ratio of _ﬁni_t weight of soil solids to that of water is'ca.lled
(A) Void ratio

(B) Porosity :

(NS Specific Gravity

(D) Degree of saturation

(E)  Answer not known

areiian Siee aoLseib e o Guuier didsh
A)  Qaupfi cldsid 2 i

B eafoo

€) EAGCL mity

D) Qsdle) sara| _

€ ofer Osfuedoms

The Minimum Water content at which the soil will flow is known as

(A) Water content
BN/ Liquid limit

- (C)  Shrinkage limit

" (D) Plastic limit _
- (E) Answer not known

LoeRT UMULD GaDHsLLE Bif 2 eTeTL&8Lb
A) B e drergsihd

B  Sre aumiyy

(C) &m&sD eurby .

D) Qermavigd eurbLy

(E) e&lenr Gsflusiidens |

13 s CEClI/2021
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24. A temporary structure constructed to exclude earth and water from workspot where
foundation is to be laid within it is dry and open air is

(A) Caisson -
_(BL/ Coffer dam | -

(8)) Cause way

(D). Cribs -

(E) Answer not known

ylenwuyd Benguyid umﬂuﬂ]LgﬁaS]@‘rj)@ ell&GuSHSTS UDERTL FID, ﬁm'r_'ﬁg.ﬂmﬂﬂuﬁ]gu@
SLLUULL @ $H5TES SieoliL| — (GLD.
(A) Gsuismen

(B)  Gsmui siement
©  smev e
(D) seplev

(E) _aﬁlam_ Qg flwelleeney

25.  The centre to centre distance between the end supports of a bridge is termed as

(A) span
(B) clear span
(CV total span

(D) effective span

(E) Answer not known

@ urrengj,g%]@@r;a&ﬁ@ Qud sLCUTTPéE Qe @erer emmug'ﬁaﬂ@gj;gj LW b
A) @eoQeuaf : '

(B) Qsefleurer @en._Qeuar

(C) Qurss Qe Qe

®) uweyeer e Geual

E) oderr Asfwelidens
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26.

27.

The camber of a gravel road lies between

(A)
(B)

- @ Fyener smepeoudlen Gabum

@A)

(B)
©
@)
(E)

1in 15 and 1in 20
1in20and 1in 25

(O\J1in 25 and 1in 30
@)
E)

1in30and 1in 35

Answer not known

1 @a 15 wpmid 1 Qe 20
1 @an 20 opyd 1 Qe 25
1 Qe 25 wpmitd 1 Ger 30
1 @er 30 wHmitd 1 @er 35

oQenL_ Gz flwelldvene

&@& @QevLudled 2 arerg).

In transportation engineering, cloverleaf is a type of

(A) Regulatory signs

(B) Traffic éontrol devices
(C) Traffic interruption
(Dk/Int'erchanges :

(E) Answer not known

(A4)
B)
©)
D)

AR

PPBIG (POD SIE@LWITETLD
Curs@eaursg & GLUTH sHmed
CuTE@GaTSE SanL . |
@ arr_TCFErF

eflenL Qs flwelerane

15

- Curéeaurss Gumdlulueiicr SareueSi eremLig) e euasLITeT
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28.  The portion of road between the edge of the road formation and the edge of the

pavemeht 18 called as
(A) . Kerb .

(B) duard stone

(C) Median strip

(D)/ Berm

(E)  Answer not known

- ST 2 (HeuNssSS e Gﬁ.aﬂﬁﬂm@ﬁ"@ml_ urenguller efleflbilnhELd @smi_uﬁlsnnem.&rremmuﬁleﬁ'r

e us e SilpsSILHEDS.
(A) . Cairi

B) s SoCL e (sremd sd)

©)  Bigwer cog

D) Qumb

(E) e&fen @g'lﬂu_:aﬁlsbmeu _

29. - Well graded gravel is denoted by
S aw . ®) GH
(@) Bit E o W

(E) Answer not known

- BEIG gguu(agg;QuLL Fyemen | 2460 GDBSUILIHE D).
W 6w = ® GH
(© SH e D) SW

. (E) sﬁén_ g Mweiideans

CECI/2021 b g o o



- 30.

31.

Imhoff tank is used for the following purpose
(A) Filtratidn

B) Chlorination

fC)./Sedimehtatioﬁ and sludge digestion.

) _(D) Softening

"(E) Answer not known

Qubam Qsmquireng) &b @GO Herer Qeuissts L HE g
(A) Gl_l-lq_éB['_@ng

(B) @Carflen Qeanss

(C) + Qo QueaGLager Hmid Geer 5 L gevEen
D) esmil el ;
(E) eoflen Qaflwellevency

The free board to be provided above the top sewage line in the septic tank is
4) . 02-03m ;
B) 01-02m

(O 03-05m

@  04-055m |

(E) Answer not known

sfe B Ceaflagn Qsmigule sfla) B afée God @assiu@D srelurs eh i
2 wirSdlerm iare] : :

A) 02-038

(B) 0.1-02.48

(C 03-0518

(D) 04-0558
E) Ao Asfucidme

17 ' - CECI/2021
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Soad are placed directly below the road gutter and storm water directly
enters them from top. :

(A) | Curb inlet -

(B) Manhole

(C)./ Gutter inlet

(D) Drop man hole

(E) | Answer not known

sreme G LHHL ey Bnse ECp Crrgwns SILESLILIL g (HéSempa.
2imeu CGe Qmpgl CHrgwIns Fienpdletner

A) & QeanGlel

(B) Cuwen GCapme (wafls gener)

C) GLLT@eanCal
D) gy Goer giewer
(E) olen QzflweScrened

33. A pipe conveying sewage from the plumbing system of a single building to a common
sewer is called

(A) Common sewer

(B);/ House sewer

'(C) Lateral sewer
(D) Outfall sewer
(E) Answer not known

gafl sl 141 86 Qmos sWleybeor Quigeurer aslc.é]eq,rf,rr GWmyL_ar QenesELd Gpsmg)u_fﬂamsm
@éueurn iempsHComd

A)  Qungleuren sfleyBi @Lomi

B) LG sfleybT Gmi

C) darwlL sfleybir Gpmi

D) QauefCuphmid &;@a.;ﬁﬁ GLpmi

(E) sﬁieml; Qg Muwelerenan '

CECI!_2021' 18 = . ®



- 34.

35.

36.

Which water distribution network ensures high pressures and efficient water

_ distribution? iz :
(A) Dead end system - (B) Grid iron system
(Q) Ring -system - (DWadial system

- (E) Answer not known

abg B Lliorer sy fls wsshismany, Gewud Snaib 2oL w Bi LélireSlen e

2 md QeLSng?
A) LB e SimwLiL (B) &0l eume oy
(C) euememu SyemoLiLy D) <@y udlire] siewiiy

(E) &len Qs welldema

Chlorine is added in the water after all treatment s called
(A) Pre-chlorination ; (B Post-chlorination
(C) Double chlorination (D) Dechlorination

(E) Answer not known

SinaTEE SEHsMIL D f}@&@ Qar®ss Geran @Germiler GemiLg

A SN gCermil Canagen : B) Cumevl @CemmMCeragen

©C) ryer @CermfCanagen D) e ECarmACaagen
E) el Gsflwefeeme

High turbidity of water can be determined by /

(A) Turbidity tube (B)¥ Jackson’s Turbidimeter
(C) Baylis Turbidimeter - (D) Hellipse Turbidimeter

. (E) Answer not known

Bfler 2 wihg LML igew ﬁﬁmnaﬁﬂé;aa 2 $66Ug|

. A) cmYglig qupl (B) grésen Lmdlig BLL T

(©) Guelev Lindig S : (D) Gamedltien Limig St
(E) ollen G]g,lﬂméﬁ]d)ma)
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37. The most important design parameter used in designing a continuous flow
rectangular sedimentation tank for removal of discrete particles is

(A) Length of the tank
(B)J Surface overflow rate
. ©) Depth of the tank
(D) Temperature of the water to be treated

(E) Answer not known

~ safiggleunman gseamer sEpneusheTar Qsriédlurer Bi @B Qeeueus GLII.q.Qg‘;I‘I’I_Iq_
Guq_eusmmuuré,]su vweruBssiL@D We @a;aﬂu_rmrren Gqu_aJGmLDu&m cg;{errm

(A)  Qsmiguler ferb _.
®)  Copuride QaefCupib semadi el
©)  Qeniguer appb
D) ssHefasriul Geuamqw Sfler Qaiiufioe
€ oo Osflucidma 2

38. A water having pH less than 7is
Aand Acidic ' '
(B) Alkaline
(C) Neutral -
(D) Coloured water
(E) Answer not known

15].@@& (pH) 7 & 9L Gepeuns o_arer Hir
(A)' ~ 2ifleggeamamio
- (B) smrsamew
©) pOBe®
(D)  euesrent Hir

: (E) efen _G.]g;lﬂl.uaﬁlebma)
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39.

40.

Force ‘P’ acting at a distance ‘¢ along one of the principal axis of rectangular cross

section ‘A’, the tensile stress at extreneme fibre due to bending moment is given by

: P P.e

(A) = | (B’/—Z

- P P.e
(C) = : (D) T

c

(E) Answer not known

‘A upliuerey Qara,. Qseicus Qe @&‘é@d} ‘P’ arenm uigneureang) ‘€ erem gm;rggsu
@&mmu@ﬁmm@ @g,emrrsu Gopliugdude euameray @®5$§§1mnw a@eurr@m B pelfens

g,smsaﬁ]m LDQZ]LJL;
P P
A — i
.( ) e B) Z
. | P
D Bl
(C). Z . (D) 7
(E) oflen GsMwelebenad
Flexural rigidity is
: E : I
A) 7 | B) =
: (C)/ EI - _ D) M1
(E)  Answer not known
@de'ruq 2 mFuiLim( erenLig
E ol F
(A) T - $) T
oy By s ' _ - (D) MI
- (B) el GsfMweldene
21 : -CECI/2021
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41,  Euler’s formula holds good only for '
(A) ~ Short columns ' (B)Aong columns
(C) Both Short and Lohg columns (D) Weak columns
(E)  Answer not known ' '

FRGUIGVIT éﬁ]p_%\urrmgj @ agne shlwmerg :

(A)  Seren grawrser = _ ®B) Beriomer SaEeT
©) élésiﬁéu@ Hmib Berrer SIeRTSET (D) ssHeove grewmser
E) e Ozfwueioame . Sl

42.  The actual length of the column is 5 m. When both ends of the column are fixed, then
the effective length 1s :

xS 25m e @ 35m
(C) 50m AN (D) 10.0m

(E) Answer not known

gieflan o emepowiman Berd 58, grewfanr @ (pOEHEHD ﬁ]upg,umnﬁ OlGEIC GL_IITQ'

LwgyieTar Harid
(A 258 : B) 3.518

-(C) 5.0 (D) 10.08
(E) oo Gsfuciome '

43.  The mode of failure in a short column is
(A)J Crushing (B) Buckling
(C) Bending i (D) Shearing
(E) Answer not known : :

(T (GeTen g[Tewtl e Gg,né)aﬂu&]w (e

A) BEEGS® (B) .. Qpafigen
(C) eumagsed D) QeuBge
(E) oo Qsflweddeme '
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44,

The stiffness of a prismatic beam, of which for end is free supported is

' EI
A T

' AN
P T

(E)  Answer not known

@B ULLs dllLgHer  Ogrewe gy pevar  ereflw g,mﬂa?! wrélméHns.

él@aﬁlLt%’,ﬁ@haﬁlmmﬂu
@ =

® 2
o =

o &

(E) oo Qsflwelevane -

23
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45. The maximum Deflection at the fixed supports for the fixed beam sh_bwn below is

25 KN _
]
- 5m > [;
A 17Tmm - : (B) 12.5 mm
(CLI 0 mm (zero mm) : : D) 18 mm

(E) Answer not known
&Gy Qar@ssuiul(erer Hao Bnsstul@erer eil L gHar 2 nd upg penarudled Sevsd

25 KN -

NN

«— Em—>
B 1TAE (B) 12.5 8.8
L () 0. 8(@erod. 8 (D) 18 8.8

(E) &lenr Qsflwefeene
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46.

47.

The beam which has more than two support is
(A) Simply supported beam . (B) Cantilever beam
(C) Fixedbeam = / (D?’C(_)ntinuous beam

(E) Answer not known

80 AL 580 @raimy pe CuopuLL gnid @mpse i

A Qo paer grid e Lib (B) Gaeing efeuir efL_Lib
(C) Aeeliupy apeer 9L ib (D) Qgm_ireflurer o9 ib
E) oL Osuciodme ' '

A propped cantilever ‘AB’ of span ‘7 has a hinge at the mid point ‘C’. It is loaded
with udl of ‘w’ per unit length. The ‘BM’ at the fixed end will be

: wlz_ ; .3LU12
(A)_ 2 _ (B) 4
' J 5wl? ' 6wi?
.(c_ - | : (D) =

(E) Answer not known

T pemd Qarewr apl (B e Garhrims el Lib ‘AB .%eu_@ sigen BHLYeefl (Cluded
Sl L sridlwreng ‘w/b éuarréq udl u@ Geweu@n Cung eiser o nfunn el

‘BM’ eréucuema,?
wl? ' ' 3wi?

(A) g = : (B) =

“ - Sml” DM 6wl?®
C : D
© 2 o
(E) oo Qsflwelaene -

25 CECI/2021
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48.  Force in the member AC (FAC) of the joint of a pin jointed frame shown below 1s

equal to
_ B
90°
_ A_I |
A C

RA =10 KN
(A) 10 kN (Compression) (B) 10 kN (Tension)
(C) 5 kN (Tension) (D_y/o’ KN

(E) Answer not known

Epssanb 86 L0 s g @eaariider AC (FAC) 2-mo Gen fens @BHEE 0D

B
90°
i
A C
RA =10 KN
(A) 104 Hlyler (Sipss elens) (B) 104. flypiem (@ eﬁlsm&)
C b é].. Blupt L6 (@) eﬁé}&) : (D) (0 kN) g,gg@u.nb &. Hlul L e

E) oL Qsfueiiene
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49.

50.

Polar modulus ‘Zp’ of a shaft is equal to
Where, J = Polar moment of Inertia.

R = Radius of the shaft.
(A)/2p=% ®  Zo=JxR.

) Zp=J+B - (D). Zp=J-R -

(E) Answer not known

S Seiiq 6 @mmu GasD, Zp

J = ear iés.

R= ;_r,s!ﬁﬁ;;.e‘&r < TLD.

@) zp=% B Zoodxk
o E-J.p ' i Ined- R

(E) el Qsflweloame

In the theory of simple bending, the bending stress in the beam section varies
(Ah/ Linearly ~ (B) Parabolically
(C)  Elliptically | (D) Cubically

(E) Answer not known

eraflus euenerey Gam_Lim g6 L., CUENETEHGLD HM&E| (1 HDeMDUI gHLHID OTMILITL_Teng)

(A) GCrhlwed (B) ureuemeriwrs

(C) Mereul Lions (D) sensgions

(E) elenr Gg,rﬂ'u_naﬁlsbsma}
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 51..  Section Modulus (Z) is given by the relation

@& z=2." = - ® z=Z
1 ' y
E | i
(o = - - Dy/z ~=
; )_ L (. y
(E) Answer not known
9flay r@een (2) 2_peuréd aupmsLILIGEIDS)
@ Z-= = B) Z-= -
£ y
© 'Z-= = D) Z-= I
: R ' y
- (E) "‘l\\' e Qzfweldene

\
/

52.  The centroid of a semi circle having radius R is

4R ' 47
PN S . By E
( )“/37; ® =
4AR? o 4R
Ak : T
QR __37_;_ D) 372

s

(E) Anmé’ﬁer not known

<y Re e w I @J.L._I_‘é';@éﬂ enowLILjeTer] <y 6ra)

4R ' 4;;.
S | S
| 4R* - 4B
& . ® —

E) oL Asfluaidame
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. 83.

54.

55.

- When Shear Force at a point is zero, then bendmg moment at that pomt will be

(A) Zero (B) Minimum
(C_)./Maximum : (D) Infinity
(E) Answer not known : -

@(H qerra'ﬂuﬁla) S.F aQu_;rr Gurrrrsm) LLEWILDTS @@5@&) (Burrgu alr_r)‘a_s yerefludles B.M.

(uaeT&@Lb S(HaToTES))

(A) ysww (B) @mm‘iﬁguf_&m
©) sdsulsn . ' (D) eromewHns

| E) e AsRweldvane

The number of reaction components possible at a hlnged end for a general loading is
i a1 ®B) 0

«f2 - ) 8

(E) Answer not known

& apigefiled o_arer Qorgs GgfNwing elmansealen erarafsams
% s R | ' B) 0

© 2 ' _ )8

(E) oo Asfuediame :

§

If there is a umformly distributed load on a cantllever beam the shear force diagram
shows :

(A= Inclined straight line (B) Horiz_ontal straight line

(C) Parabolic curve 3 D) Cubic law

(E) Answer not known

@ Srergedeui snann B a’iljrra; Qﬂﬁl(?u_!rrﬂ&&uul_l_ &HENLD @@;5;_5%0 é{g,sn? @em_@ eflens

GUEDTLIL LGS
(A) smibS CrrCam(h & : (B) e.ﬂem-_tm_'_l__ CrrGam@®
(C) LITOUGNETLL GUEnETEY : i (D) sers_Lb

(E) e&fen Qsflwefveney '

e CECI/2021
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56. The point of contraflexure is a point where
(A)  Shear force changes sign
(B)J Bending moment changes sign
(C) Shear force is maximum
(D) Bending moment is maximum

(E) Answer not known

ST sLiGer&si Leraf eremig)

(A)  afwi Gurmied @M wrmd Lerafl

(B) _ (B.M) aueneré@id (mewrid mmid Ljerer]

(©)  aflwi Guieh SFsLIL s @b Leaf]

®) (BM) QUETESLD S(HauTD S BLIL &b @D Lerafl
E) oS OsAucidema |

57.  Robert Hooke discovered experimentally that within elastic limit
(A) Stress=Strain
(B)  Stress x Strain=1
(C) Stress # Strain
(DVStress « Strain
()  Answer not known

L m_ an~g Ber eurb A @er Cangenen @mm-ﬁfﬂ@ s g SELULL g
A)  OLyed = ev@puden

B) ewQyev x evGyudler =1

(©) . LELTen # evyuilen

D)  v@Lgei o Gd@pulen

(E) . ellenL AsfMwalevenay
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58.

59.

Cham surveymg 1s adopted for preparing plans of

- (AX/Small areas

(B) Large areas
(C) Bushy areas
(D) Areas with ups and downs

(E) Answer not known

sniglell SieTEme (Wenpwineng) S eupdlen auamrLL b euaFw LweLBE Ds)

@A)  HPuuedser

B) Quilu uedser

© usiussar

D) g sTpeysmarnds Qarar. LGS s
E) e Qsflweldoema

A Total station can measure

(A) Distance

(B) Horizontal angles

(©)  Vertical angles

(D)\/Horizontél, Vertiéal angles and Distance

(E) Answer not known

Qg Hevawib @g,@sm'amés& LweruGEns)

A) Gszreneay

(B) vl Csremiser

(C) Qerigss Caranmiaser

D) vl Qstugsg Carammisear wHmD GgTaneaey
E) Ao Qsflweldame .
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60. A curve of varying radius is known as
(A)  Simple curve
- (B) © Compound curve
(C) . Reverse curve
(DJ Transition curve
(E)  Answer not know;n

S(p euaverafien %Umﬂeﬂé Qs Quryss wYUGHaTDg)
: (A)  sngmyewT cumerey |

(B) aséuemau UEETEY

(©C) Qerym @J@mm

(D) wrHpb eumeral _

E€) Ao Asfueldme

61. Local attraction at a place may be due to
(A)./Wire' carrying electric current -
(B) - Pieces of paper .
(C) Rubber matérials
- (D) Plastic substances

E) Answer not known .

S QLsHar GnUALs sauiés (Local attraction) a1zl @serme gHLHEDS!.
. (A) &b &wEEW WD
B) anélg glamBsar
‘ ©) gour Glurr@.s'_essﬁ
D)  @epw Qurmmser
® o Qshucidome
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63.

A Theodolite can be used as a Studic Tacheometér if it has
(A)  An external focusing Telescope '

(B) A Ramsden’s eyepiece

(C)JAn 1nternal focusing Telescope and Studic dlaphragm
(D)  An external focusmg Telescope Wlth Studic dlaphragm

(E) Answer not known

eru@umpg) &Epg')Gsueﬁ &(mellwimeng) Qg;rrma}s:_; DIETEDS SMeSlwrs LweL(E g
A Qaeieps AsreraGrrés) :

(B)  ymbCLérev sawTgIemer

(C) 2diys AsreaCrréd wHmib @.Gﬁ)!_‘é‘)@(;ﬁ)m Qamesr_

D) Qeafiys @g,ﬁsmso@gjnésé] WHOID @cm_ggjemm Qe mesort_

E) oL AsMuciidmm

The additive constant of a Theodolite, used as a Tacheometer, is nearly zero if it

(A)  Has a shorter Telescope

B) Is of ﬂie Internal focusing Type

(CVHas an external focusing Telescope
(D) The objective lens diameter is small

(E) Answer not known

Sleng Caranr smell HensGous smeAwimrs LwTLHLD QuIrpgl e éhL'.@ wmhledl erli@umps ;

LRBLLTES BBEGD

@) ©opss AgT@atorsd

B) - 2dps s@wvLLTE QEHEeED Aurps

(©) Qaafiys AsraaCoradurs @mésh Qumips |
D) Qurmer Cprés eldameuden 6di L b Gmpairs Q®&ED Qunps)

(E) efenr Qzflueldena

- 33
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64. Contour lines of different elevations can unite to form one line only in the case of
(A) Anoverhanging cli_ff .
BNS A vertical cliff
(C) Gentle slope
(D) Steep slope

(E) . Answer not known

LIaUEnSLITET 2 Wikisamer Qama swer cuayGan(hiser s Gaqmd Cung) gpuBeug
A) Oprugdern Gen .

B) QemgssTear Gan
(C) Querenwwner &miiey

D) G&fﬁj@fé’,gnm gmiiey

(E) oferr Qgflweleane

65. An example for a level surface is
(A)  Surface of earth
(B) Surface of sea
(C)  Surface of a reservoir
(D)~/Surface of a Lake

(E) Answer not known

8@ swper LTLAHE TOEEESTG
Q) yBer vy

B) sLeller Ll

(C) - QsiarasHer Ly

D)  efderuriy

® ool Asfucddma
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66.

67.

'Tape correction for pull is

af E-RIL = e
© (P-R)AEL @ R4

(E) Answer not known

BrLT fle sieraveuniler @upriughsarer Gepuder ieray

| [P-F,]L ! (P-P))AL
@ Rl | oy &
| (C) (P-Fy)AEL ek ? (D). (P-F)A

E-L

(E) aflenL Qg Mweilcrena

The permissible error in chaining for measurement with chain on rough or hilly

ground is _
T R S (BN in 250
(©) 1in500 (D) 1in 1000

(E) Answer not known

waeLdiCsesded smfd flo ammen. wap soLbysend Curgy Hiemdssiiu L

Aenipullen oL LIreng
A 1001 B) 25061
© 5001 (D) 1000 & 1

(E) &de Qg,rﬂmaﬁléomw
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68.  Yield of well is expressed in terms of

(A)./m [ hr

(B) m® Isec
(C) ml/sec
M) Nim®

(E) Answer not known

SemrHiledr L& @60 @GLI@JITQ] @rﬁasauu@éi]g)gj

@A) m'lhr
@ wiles
(C) = mlsec
@) N/m?

E) oL Asfluaddme

69. The ratio of power output of the pump to the power input of the pump is known as
(AL/ Overall efficiency |
. (B) Mechanical efficiency
(C) Manometric efficiency
(D) Volumetric efficiency

(E) Answer not known

um_ﬁa‘n 568 QauafuSi_ g H@b LbGer 568 e drafl iy HED 2 erar eAH0D
A) @l HCwrss Qewuadper .

B) Quidy Qeweadner

(C) wGemQu fé Qewmdpen

D) e @ SHer

E) e AsNueidens
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70.

i

(where, m = Hydraulic mean depth, N = Manning’s constant)
(B% == imus
s

D) C=%m3 .

(A)

(©)

(E)

Guaflmian eSlglulen Lig. Qeeverden el <yemg
m = Bflwe gyrafl b, N = Guefhie wriel

(A)

©)

(E)

In a most economical trapezoidal section, half of the top width is equal to

(A) _ Bottom widtﬁ of the channel

B)

D)
()

.C:

S
Nm
1

C==—mf
o

Answer not known

C = i mlfﬂ
N
¢ = %ma _
eflenL @Az Mwelldvena

Depth of the channel :
(CL/Sloping side of the channel
One-Third depth of the channel

Answer not known

The value of Chezy’s constant (C) according to Manning’s formula is

KB C=

e e

Wlseyb Assanorer LGrlsmie Gilefle, Ge sisaddear Lmd asmneE swnEib.

)

®)

©)

(D)
(E)

Geamelien SLp oiseid
Gearellem pLp1d .

Goanadler FmiieumeT L&GSLD

Gaemadler epamBled (M LIk Fmiieume LigaLD

eflenL_ Gz Mweleene
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72.  The inlet length of a venturimeter
(A) isequal to the outlet 1ength _
(B) is more than the outlet length

(C is less than the outlet length

(D) zero
(E) Answer not known

@ Qeuan@f siereflan o 6t apaiiyy Beromeng)

(A) g6 Geuell wpsLi BersHnE swors

B) iger Ceuafl sl 'rf,.mgcmg; Al oflaons
(C) e Qauafl sy Bersms el G@neuns
D) uyRBwd '
(E)  ofen Qaflweidene

73.  Hydraulic Gradient Line (HGL) represeilts the sum of
| (A) Pressure head and kinetic head
(B) Kinetic héad aﬁd daturh head
(C)  Pressure head, kinetic head and datum head
(D)~/ Pl;essure head and datum head

(E) Answer not known

eTeudmien sl @g,.rrma; Sflwe sfefer Lregamw Ceradng
A)  ewss o Wiyl Lng')ng @uids 2 wiyb

B) Qués 2 wrb whmb ConHGesrer 2 wiyb

(®) é}l@ggium.b , Qwss a@ﬁm LOHMILD (erj)@a;rrsh o WD
D) <=iss 2wy wHMIb CHGETeT 2 wiLd

(E) d&lenL Qgflwelevene .

CECI1/2021 | 38



74.

75.

For the Laminar flow through a circular pipe

(A)

D)
(E)

The maximum velocity = 1.5 times the Average velocity

' (BL/ The maximum velocity = 2.0 times the Average velocity
©)

The maximum velocity = 2.5 times the Average veldcity

The maximum velocity = Average velocity

Answer not known

UL aulg el Gomuiler Ha&CamiL L UTe| <365

A)

B)
(©)
D)
(E)

o & eflenswineng = 1.5 ki@ Csmymu elens
o & ellevswneng = 2.0 wLrkig Camymu elans
e &5 eflengwineng = 2.5 wLniE Csmymu elens
o &5 efleswneng) = G‘dj’)rﬂ]’ﬂ'l.l_l. cllens

denL Qs flweleena

The flow in wh1ch each liquid particles has a definite path, and the paths of
individual particles do not cross each other, is called

(A)  Steady flow
(B) Uniform flow
(CVLaminar flow

| (D)  Turbulant flow
(E) Answer not known

@ Bilen Causoreng §r1rraaa4m LHMILD @gfﬂuéﬂl_l_ UTESWUIID SIS FSETSET RETEND
QaTn Gm&E Gewmod @) e :

A
B)
©
)
(E)

- Hlevewrer U Lib

&LOLOTEN §pL_L_ID-

2 HECHTL_L_Lome el L b
Qambgeflimer gL L b
eflenL Gz fweléveane
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76.  The Capillary rise or fall of é liquid is given }i)z/ :

(A) hzcrcosé’ ~ ®} h:4acos€
4pgd ped
©) e 80 cos .9 ; M k= o cos
pgd : ‘ | 8 pgd

(E) Answer not known

@ Biongslen um@ FHpid Sdes @nésd Gy Qsr@ssuLEA DS

s 6 - T 4o cos@
o e B) h=—""
- 4ped oY ped
- 8o cosf | o cos
0y e . h= _
(© - e

(E) eSlenL_ @g,rﬂuéﬂsﬁmeu

77.  The point through which the weight is acting is called

(A) Centre of pressure

(B)J Centre of gravify
(C)  Centre of buoyancy

(D) Centre of pressure and gravity _

(E) Answer not known

(1 L!GiTGTﬂ.U_Ci]GhT afurs oger ol QEuau@oremd <bs ydallaw  @eieury
2 Lp&S Comb. '

A)  =wss ewwbd

B) yelmitiy ewwib

.(C) Lﬂg,qu ELOWILD

D) g;@g,g; eWWLD WHDID LeSFTUIL] eLOWILD

(E) e QsflweSerened -
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78.

79.

The pictorial representation of activity and events of a project is known as

' '(A) Flow chart

(B) FlowNet
(C)  Algorithm

. O Network

.(E) Answer not known

@ gll_l_g,é,]an @&Lua)urr@assﬁ wpon  Hlspesaier  fsdy ﬂg‘é,]'rf;]g]g)geum GTELGUIT)

PlutiuGdlenng?

(A) @l eferésliuLid

- (B) @l fsmd

©  afepop
D) euemeGereard

(E) ele Gsfweldma

Personal banking services is also known as :
i : (B)'éetail banking

(A)  Global banking
(C) Rural banking

(E) . Answer not kn_own-

(D) Urban banking

sallul L eunid) Geamnauser

Q) cesameflu eumid

(C) aﬁis’yﬁmﬁum QUi
(B) e&lenL Qsflwelerene

(B) Seéewenm curid

D) B&TULM eurtidl

41

- &a|b Muiu@Beame.
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80. The following is indirect cost of accident
(A) Money paid for treatment of worker
(B) Compensation paid to worker
(C)./Coé.t of lost of time of injured worker
(D) Contract value

(E) Answer not knowh

ﬂ@rm@suméu;bpﬁlé) ereneu edLGgISETET DS DFwe,
(A) Caumawi seafar w(mssiel Gsaay

B) Ceaumewrls@méd gaﬂés@;@ Qgrens

©  Cpr@ui gpLGEs ‘

D) guups LY

(E) ofen Qg,rﬂu_iaﬁlsbémcu

81, Strong room will be most essential for the building. .
(A) Residential
B)  School
cxn Bank
(D) Public

(E)  Answer not known

LITSISMLIL AGD — ' sl L8l seyDd (psdluisgield cumibSS!.
@) s oD L -

B) el

€ aid

D) Qumgeuren

(E) el Qzflwedlevene
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82.

83.

A legal agreement made between the owner and contractor is called
(A) Legal document
(B) An agreement

(E) Answer not known

arﬂembu_lrrm@és@m e uﬁ;g,ésarfu@éa@Lb Qe wiler Qewiul L gL @uLpshd
b e '

B) emeuubs Glawied

© e® G,rsofo'\_

D) 6 elupsd

(E) dolleni Qg Mwielleranay

PERT stands for

(A) Programme Estimation and Reporting 'Technique_
(B)  Process Estimation and Review Technique
(C)\A’rogramme Evaluation and Review Technique
(D)  Planning Estimation and Resulting Technique

(E) Answér not known
PERT meﬁﬂu@m@

A) Sl wHUSE wombd m@(&,@&@&nd}@]g@
B) Geswe wHUIE LHGHWD LG Qg

(€) Al wdulSE whmibd wnwHLSE Ceiige

D) i@ wHG9HSD wHmID (g elsmer Dl
(E) dfen Qsflweleene
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84. In PERT analysis, event means

(A

®

(©)
(D)
(E)

Start (or) finish of a task
Time taken for a task

End of an activity

Work involved in the project

Answer not known

PERT-& fspey eremig

A)
(B)
(©)
D)
(E)

(1 uafleanwis Gg,rn_-réws (1) Pig&s

(1 Lieflenw @@éﬁ&; Caemeuli@bd Cprd
@@ Qeweumiger (Plg el

S L g6 UL (HeTar G

eflenL Gz flwellidame

85.  Higher standard deviation means

(A)"/Hi gher uncertainity

(B)
©)
D)
(E)

‘Lower uncertainity

Nothing to do with uncertainity
Equal chance of uncertainity

Answer not known

2 wit Hleneowrar efesader QurmeT

@
®)
(©)
D)
()

CECI/2021

<2ifls HlEswiop gshTGbLD

GDDHS HESWLHD HeanLo

Bléswionm erenow]er Qe gempiLilaane
BléFLnHm 5@@1{)&5@ &LOLOME GuTILIL

eflenL Glg;rﬂuﬁaﬁ]éocmm
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86.

87.

Bar chart is also called as
(A) Square. chart

(B)  Milestone chart
(C)j}antt chart

(D) Rectangular chart

(E)  Answer not known

ULl en Gusm;rul_gﬁsmm@si_laur@ DAMPESHEO LD

(A sgiretssliuLib

(B) ewésd eNerdsiLLib

(C) Gaer eferssiiuLib

_ (D) Qseueus eferédsILL b

(E) eflent Qs flwelerene

Bar charts are considered to be suitable for
(AL/Minor works

(B) Major works

(C) Dam coﬁstruction

(D) Large projects

(E) Answer not known

L GI.IGﬁ).IJ'L.II_.Lb QaupdnE Blseyb Gummmg)b
A) Adw Caumarsar

B) Quilw Ceaimmevsaer

©  swo s Gaspe

D) Bs0Quilu Gaumaadr

(B) elen Qsfweldane
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88.  Approximate cost for water supply arrangements 1s

(A

B)
(©)
D)
(E)

4 to 5% of the estimated cost of the building works
2 to 3% of thé estimated cost of the building works
3 to 4% of the estimated cost of the building works
1 to 2% of the estimated cost of the building works

Answer not known

Bt QUPEIGLD SieUILEEHESTE CHTTTLILTE Qgevey

)
B)
(©
D)
(E)

s_lqL_sdar i) Qeaedd 4 (pge 5%
sLigLsdar iy Qeaeile 2 wpsd 3%
sl gL sHam iy Qeeaden 3 (pse 4%
515 gBen B Qeavelids 1 4w 2%
flan Qzflweleeme ' :

89. (Calculate the rough cost estimate for a 1t class building having a plinth area of
500 m2. Add a lump sum of 20% estimate for public health and electric services. Rate
per m? of construction is Rs. 6,000 S

A)
(B

(©
(D)
(E)

Rs. 30 Lakhs
Rs. 36 Lakhs
Rs. 33 Lakhs
Rs. 72 Lakhs

Answer not known

500 &.8 upliuere) QsraL (PpS® ST sllgL $HDEG TU &TevL LDQBS@ sanssH Cals.
s_[Qurer Qswey . 6,000/58. Gsr eaeilamsE@hsd SIS g 20 speishd sabzeons

(D55 EQSTETS

A) 5 30 ol

(B) em. 368D

© @ 33als

(D) ep T2 80

(E) efen Ggrﬂ welevenen
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90.

91.

A property is said to have dlstress value when it can fetch —— value than
market value

(A) Higher
(BVLower
(C) - Equal
D) Double

: (E) Answer not known

@@ Cergdlan wdliLimen &g;smg wéllmu el ———— _gqray Qouler sigman geL
&L erariu@ib

A) <ifls

B) ©opis
© &

D)  Qmwoie

E) oL Asflusdme

'I'he value of the property at the end of the useful Ilfe perlod 1s known as
(A)  Scrap value

)s/Salvage value

(C)  Junk value
(D) - Book value
(E) Answer not known

uu@jeﬂm eurppraflen (g efled 2_arar Qemg e &L eTeueummy .ammga;asuu@élg)@?
A) z’_qu&wwm gl iy '

B) amiy &Ly

©)  viuuppg

D) Pramiss oy

E) fenr Azfweldena
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92.  What is the unit of measurement used for supplying of bitumen?
A Kg
(B)- Cubic metre

(C_)JTonne

(D) Square metre
(E) Answer not known

uus‘q‘ru@;__’sguu@m Lﬁh'_@\(;}mssm{_ (am) 6The e Gare( SjersHGnmD?
(A) &G Hymd |

(B) senSlLf

(C) e

(D) sgpdiLF

(B) e Osflucddama

93. Actual size of standard modular brick Tile
G (A)JIQ c.m. x 9cmx 4 cm
(B) 19cm. ><'.9 c..m. x 9cm
(C) 20cm.x10cm.x10c.m
(D) 20cm. x 10 c.m. x 5 c.m.
(E) Answer not known

Qepsr (<4) ﬂmmmw@ L[ Qemise L g6 2 GRTELOWITET SIETe
(&) 19Gs.15x 9 Q.18 x 4 Gs.i8 ‘

(B) 19Qs.8x90Qs8x9 Q&5

(C) 20Gs.B5x10 Q.18 % 10 Q&8

(D) 20 Q&8 x 10 Gz.18 x 5 Qe.i8

(E) efen Qsflwelldame
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;94

95.

- For sanitary and water supply works and for electrification, the percentage of the

estimated cost of the building works for the above works shall be
A 8% |

B)  10%
© 12%
D) 14%

(E)  Answer not known

Sligl Gmcmvas@&asmim wHUSH swt Qeinib Qumps), sfley B wHmD G4BT eugd) wmHmib

Blensmy eusdser TOLUGSS FL UG 1o @assILELD &g,éﬁlﬁgﬂb eTEUGGTEY ?

(A)  8sseddlsid _ '
B 10 &g;’eﬁ]@gm

) 12 5T

(D) 14 sse9fsid

(E) ofenL Gsflwelerensy

- The unit of measurement for Random Bubble masonry is

(A)./m3 ' '

B) m
C€) m2
(D) Nes

(E) Ans;;ver not known

@0 GS$sILdiuns s L L@ seuflern <lemedl (b DI GTEITLIF

&)
B &
C) 82
D) H.Qs

(E) efen QsMweldene
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96. Th:?ual cost of a work is known as

(AN Cost after completion of the total work
(B) Security deposit of the work
(¢) EM.D.

(D) - Estimation

(E) Ahswer not known

& CouamavuSlanm 2-awTepLowITen Ceavay G'I'GﬁTug].

Q)  Camauldr wigelled Eb Aorss deawe
- (B)  ungsmiy ety

©€) @erndig

D)  wHSE

(E) v Qaflueiidrana

97.  Unit of dimension for aggregates

(A) cm

B mm

(C) length

(D) Dbreadth

(E) answer not known

sl uflremrhiseflen S E

@A) Qo8
(B) 8.8
(C) fembd
D) sab _
() ofenr Qsfuicideme

CECI/2021

50



98.  The compression members used in roof trusses and bracings are called as
(A) girders (B) columns
struts | ; (D) beams
| (E) Answe_r nhot known '
Sy FIOES_(HSET LHOHD GmEE s Liksalld ums&ru@(&;gﬂu@ﬁ Bnés 2 muyser
TET HEDLP&SILIHA D).
Q) o gsrhser o (B) sremsar
©) Wl @adr (D) oL duger
(E) oo Gsfueiome '
99.  The slenderness ratio of a tension member is defined as the ratio of its unsupported
length (L) to its
(A) least radius of curvature ‘/(B) least radius of gyration
(C)  least of section modulus : (D) least of polar modulus
(E) Answer not known '
@0 @edams 2 gri9er Quedey dlsLomang Siger sriddar Bersdip@id> (L) WwHmLD DIF60T
&0 Qe lenar 6985 2y @i,
A)  GopHsULE sumeray <2}, 71D (B @emm;i,gut;a 2 MPE| B TLD
(©) @smgplr_'r;‘e_r,ul;a: Qe () @enrsid D) Goppsuls waeray GEWTHLD
(E) oo Qsfweldena i
100. In a two-way reinforced rectangular footy, for reinforcement_ in short direction, the
width of central band shall be '
(4)  half the width of footy (B) half the length of footy
w) width of footing (D) one-third the length of footy
(E) Answer not known : :
Qra® euf au@iapLiulL  Qedious s ule @oduersdd auigy Heusne
CoemauliiBib i senoufer &l
(A) asrreuq.uﬁ?eirr Ll Siseid _ (B) smevigufen urrél Harid
©  sreyuler s : D) epanier m Lt sreviqufler Herip
(E) sﬁ?am__ Qs Mwelerena
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101. The effective length of column with one end fixed and the other end free shall be

(A) '}—5 : f) 2y e

(©) % (D) _1_.0 l

(E) Answer not known

(T gnmﬂ@ R (Peer Hle@urasnaaid o Poer &eg,rjgi}m_rrmggrrasmm Qe Gungl

oigen sfluren Berid )

(&) (B) 21

S

(D) 1.0!

l
(C)_ ry

(E) oflen Ggr’r]u_lqﬁléoéma)

102. The horizontal upper portion of a step where .the foot rests, is called as
A Tread ' ' B) Nosing
(C): Riser : (D) Flight

(E) AnsWer not known

ST eausELD Q@ Liguden Aeni_ol L Coé LGS Qeueunn SP&sLILGSE DS
A e LIuGH __ (B) mefl pésid

(©) euwiey ' (D) abpw

(E) efen Glg,rﬂmaﬁ]ebma)
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103. The bending moment value in the continuous slab is calculated by using

2 s 5

o &
i

i

(Cy\F coefficients (D) Hilz

(E) Answer not known

20 sriédluner uessHen sumere| WHEsEMS @ass Qaran sarsd_riL@E LR

wl wl ®
A) 2 : - (B) 5
© poomps . o4

(B) oo Opfuicioasas

104.  Total characteristic load on a slab is, 20 kN/m? its design load is equal to
(A) 20 kN/m? | (B},Ao kN/m?
(C) 40 kN/m? - (D) 25 kN/m?2

(E) = Answer not known

QM Uvanasudlen LimeTento éasmn 20 &. Hl/152 erailéd GG GUELOLIL| &EMLD
A 204.9/82 . (B) 304. 8582
(C) 40 &. A2 . (D) 25 4. HIS2

(E) . eflenL GgMwelidvency

® - = 53 e ' - CECI/2021
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105. The formula to calculate the maximum bending moment at the support of the
" cantilever beam subjected to udl is

@ wl’/8 ®) wl*/10

(C}.j wi?/[2 | @ w12

(E)  Answer not known ' '

Syren  (pavpuded a}@mﬁs@-&l;u@gglﬁuﬁ_; Qarriems LSS 6T a@&uﬁ_& QUENeT
Hpiymwau sasdOw @SS

@\ wl’/8 - ®) wi*/10

(©) - wit/2 O wi*/12

(B) efer Qzflweilcene '

106.  As per IS 456 - 2000 The characteristic strength of concrete of M, in N/ mm’gs
@ 10 ®) 15 |

© 20 - o

(E)  Answer not known '

@pdu grésnanm 456 - 2000 eén Ly M, e spsTeyulen Lo aullano N/mm?®—é

GI'.G'GTLJQJ
A e . | - ® 15
C) 20 ®) 25

(E) ollenr Qsflwelleranew

~ 107.  Slump value of concrete for the Road work in mm.
A) 0-10 ) (B) 10-20
o 20-30 . @) 30 - 40

(E)_ Answer not known

gnane Caumauden spsrayuien sfey d I'JI_|.LIS].L5 ulled

@ 0-10 '  (B) 10-20
(C) 20-30 (D) 30-40
(E) Gﬁém_ Qgrﬂu_laﬂd)@w
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108. The maximum area of tension reinforcement in a beam is restricted to

(A) 0.12 percentage of_-t;fs area (B) isf = 0.85
: bd  fy
& D - ' o30.045D

(E) Answer not known

R speopuier Hfsuls ‘r_ﬁl_eﬂ eugg;@bl'_LaﬂéhT 2ETEY

(A4) 0.12% uEd uriuerey | _ ®) % r 0}35
& b _ it (D) 0.045D

E) ofler Apfuedirema

109. In a singly reinforced beam if the failure strain of concrete in bending compression
reaches earlier than yield strain in steel, the beam section is called

(A) Balanced section
(B) Critical section

. (CL/ Over reinforced section
(D)  Under — reinforced section

(E) _Answer not known

(M LSSLD euIapL g ST Clsmerr Gﬁh_l_g,ﬁsn 6o o@6 sLlls6r eugeflpliy Hflen wieL_ausH(E
perasraGos auemera; @méssde damsren ageiipoy Hfou smpstd oips
el L gdlen Geu QuLEH Geeunny smpssiiLGEDs.

Q)  swear QeiwiL L Qe QULEEH

B) euufo Qe GuuEs

.(C) &‘é]asmrrar augiapl g sar Qsram Qe QLuES
D) ~ Eoparear cugiap’ gae Asrar Qo (UGS
(E) oo Asfucioame
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: ; : : [Turn over



110. The window which pro;ects outward from the walls of a room to provide an 1ncreased
area of opening for admitting greater light and ventilation 1s called

(A) Dormer window
(B)./ Bay window

(©) Corner wihdow

.(D) Clerestorey window

(E) Answer not known

R geened sligl gdlen Gleuafl L@Sulled fEl_L_uu@sugnsu @1@& asng)@gprrl_L_LD WHMID
Qoucflissasiyb QaTHESOTETTE Sibs KT .

(A) Gumioir gerered

(B) GQeuefl geemed

(C) apeve speemed

D) SHops Qauafl gerened
(E) eflen Qsflweilcened

111. To Transmit heavy loads from steel coloumns to the soil having low bearing ﬁovyér
(A) Raft Foundati_on \ .
(B) Deep Foundation
(C) Pile Foundation
¢ (DL/ Grilllage' Foundation
(E) © Answer not known
GonHs STHEGD Hoen G warensE @Y siewtedl ;b QUMD HHELIguITE '
G@OLMW S5 . ; :
(A) QslusseL&&Te
(B) ppwrean saL_&sTe
C) fPasgneam smL&sT6
(D) Qenaned SU_(HLOTaT SL_SETED

(E) eflev @55\&6}96‘1)66)61)
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112. ~ Very fine concrete deposited by jetting or impacting it with high velocity on to a

113.

prepared surface is called as

(A) - Aerated concrete
(B):/ Shotcrete .
(C)  Precast concrete
(D)  Vaccum concrete
Answer not known

(E)

(B)
©

(D)

(E)

STPDISHQHS HDHSTE :
@iaDITU'_IG)J@. SHESTET 6555 (agm_&ML)
PeTeuTiLiLG spereny

G@ij}@l_ SOSTEDI

eflenL Qg flwefdene

Slump cone test on concrete is done to determine

(A)  Compressive strength
(B) Tensile strength .

(N Workability

(D) Water content

(E) Answer not known

&ffley gLy Corgaan, 5,rbasrras)|;ré5@ . g s Hlw pLgsiiLGEenmg.
@A)  owssadon

B)  Buams cuslanio

(C) Caemosdper

(D) sawenfiier oerey

(E) elenr Qsflwefrana
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- swimir @#uhuljul'_l_ Cupuribe ods CeussgLar Qmr SOVG| HTESSFIL 6 Lilg euLILIHID |
- & mawenflv spareny eraieummy SioWssLILGE DS ?
@ |
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114. The fabricated glass is allowed to _cool in a controlled manner called
(Ans Annealing _ B) Cooling s
(C) Bleeding (D) Bending

(E) Answer not known

LB L Uig LenemuiLIL L SEHRTamTiTie.eoul GeTuBhsseuans
A) aflei - (B) anefiiy
C) Gedligrs | (D) Qudiriqis
(E) efen Gzflwedlevenc

115. The liquid part of the paint is called
(4)  Pigment | ®Aehicle
(C) Solvent (D) Drier
(E) Answer not known :

Quulleirig 6 Slreu u@@mﬁ Qéueurm SienpsEGoD

@)  GsQuer B) Qadfe
(C) smoCasam - _ (D) wgewywit
(B) o&feor Qs uaﬁ]s’umso. ‘ . '

116. Sandis generalljconsidefed to have a size limit of about
(A < 0.07 mm (B) >0.07 mm
(C) <0.002 mm ; s (D) >4.75mm

(E) Answer not known

‘oawre)’ eTanLg QUTEIEUNE SPSESETL (1 Bi6Te UL QasTarT_sn@L -

(A)  <0.07 8.5 (0.07 8.8-5@0 &p)  (B) >0.07 .8 (0.07 B.5-5@b Guod)
(©)  <0.002 8.5 (0.002 B.5-4@b &) (D) >4.75 8.5 (4.75 18).15-6@i> Gloed)
(B) oo Qzfueldree - '
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117.  In cements, generally the increase in strength durlng a period of 14 days to 28 days

118.

1s primarily due to

@A) GCA
& c;s
C) GCg8
D) C,AF

(E) Answer not known -

14 mrer pged 28 mre cuany @em_uul_l_ TGS #]Qmmnq_sm &guﬁ SeenoemiLl SFlsMLILg)
A CA

®) CS
(C) CgS
D) CAF

(B) ofer QsfNlweldvenad

A bond consistin_ of headmg and stretchlng course so arranged that one headmg
course comes after several stretching course is called

(A) Raking bond

(B) . Dutch bond

(CV Facing bond

(D) Heading bond
(E)  Answer not kndwn

Hleppuw u@a;a)as aflgeer CUTL® Sigemer gsmua_lrﬂasmm @ass sLHD sme, u@&ma&
auflsener eris I_cl]Lq.LDI'I'GUTLD aranm smmEGomd '

(A)  CGpédli 9igwrand
B) L& LQ]Lq_Lnrremb

(C)  unfreneu Gigoremd
(D) 56_&)@3 Gig LoreTd

(B) oo Asfueidama
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119; Planting of trees.on the road site is known as
(A) Road ca_rriage way
. (B) Road separators
. (C}/Road Arboricﬁlture
- (D) Road Regulators.

(E) Answer not known

sena gerHled rEEmeT HHieUg eTETLS)
(A_j STEE GUENTIG. LITENS

B)  smevew OMGOLITETSET

(C) smeoo gy rurflaosst

(D) &rra%mu SL_ QLML TemTaeT

(E) e @5&] wellédana

120. The shape of the camber, best suited for cement concrete pavements
(A)../ Straight line | .
(B)' Parabolic
(C) Elliptical
D) Combinatio_n of the Straight and Parabolic

(E)  Answer not known

- spésTedern Apeib Si@LESILHL @S SNEEQIESETET (LTHSSOMET Gl eULD
A) GpiGarl - |
. (B) uijajmé'runb
(C)  HereulLib
D) CrpiGsr@b, uFeumerLpd Go@THES
(E) &fer Gsflweilevener
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121.  Shear strength of soil is determined by
(A)n/Triaxial compression test
(Bj Tensile test
(C) Water absorption test
(D)  Compaction factor test

(E)  Answer not known

weirentler aflwifli euellenwo e (G s@Eib Gergaman
(A)  &Caman sméa Canganan
- (B)  @upeiems Gengamar
(C) Siogm @eﬁgsu Cangenen
D) swCusager SGUELT Gangdem

(E) ol QzMwedevrena

122. The soil properties on which their identification and classification are based are

- known as
(A) Classification of soil

- (B) .Cha_\.racter_istics of soil
(CV Index properties of soil
D)  Soil properties '

(E) Answer not known

LoewTeRfled ienL_uimemd Wwhmib mémaaﬁrurr@ Slig LILienL_ulevmest LDGRT LIGHTL 6T
GTEN MLP&ESLILI(HILD.
. (A) wewenflen auemsLILT® - '
B)  wvaraflen seeno
©) varefller GHWL G uabTysaT °
' (D) i LIGRTL&ET

(E) &lerr Qsfwelerena
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123. The most effective measure to prevent scouring is
(A) avoid stream - line flow
(B),/to reduce the velocity of the stream
() hy providing strong piers |
(D)  to have strong foundation

(E) Answer not known

sifltionu 5068 THEGSD LwgyeTer fphs BLeuigEos
Q)  cvefib o gl Lsms 5HESD

(B) evefiber Goussms GODSSD

(C) eugneuman GLRmenll BULDEIESD

(D) g Siys5s5aTEMS Qa;rrafunq.@g;@

(E) eflen Gasflueildenew

124. The vertical cutting of river-bed is known as

(A) Afflux
(B) Apron

(C) Cut-water

Oxd Scour

(E) Answer not known

58 u@&msulen QamiEsg Ce [Hge aTa D p&aLBEDS.
A) obesen
B) sugrer
(C) sl-aumiid
. D) . avCamr
(E) ofenr Qsflwellevene
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125. The study to establish the ability of the road to accomodate traffic under operating
condition '

(A) . Traffic _ﬂow characteristic study
(B)/ Traffic capacity study
(C)  Traffic volume study
(D) . Speed study
(E) Answer not known

Gfisgn Haeouwa CuisEgarsms abu@@@mgﬁ)a;rrm snewaullen Spener BHpeyeughsmer
i = ! :

I(A) CursGeuTSs @L LD

B)  ApuGuey ey
(C) Gurésgeaurss Hpen <y iiey

(D) CGeuswrew gyuie

(E) e&ler Qsflweldeme

126. Rotary is ideally suited for
| (A) When traffic is slow
(BV When traffic is very heavy
(C) For Junction
(D)  For Pedestrain crossing

- (E) Answer not known

- Gpmio M Wseyn Glurr(r_rjggmrrmg _ _
(A) Curseurss Qugers @ mash Curg Qummbgid
(B) Curs@eirsg Wseyb Bs1oms @@éﬁ@jm Gumg QurmHSID
©)  spBisE Qunhsid |
@)  ungerd sLLLSHE QUGS
B o Qpflucioma
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127. Providing transverse.slope throﬁghout the length of the horizontal curve is known as
(A) Camber '
(B)./ Sﬁper elevation
(C) Gradient
(D)  Vertical Alignment
(E) Answer not known
SHevl L euenareilen wpp BersHad G,rg")u@g,g;uu@.l.b Gné@ smusear Guwflener Gairay
Q. : : '
A) sree eww 2 WiTEs
B) EWEEeT_LD -
(C) smiey
D) Gemesg Srenwliy
(E) . aﬁ]em_ Ggrﬂ wellebenen

* 128. Drawing to be prepared for the site plan of a project with a RF

1 1
(B) _
10,000 “ 50,000

1 ' 1 '
C TR 1§ e e
©  Toooo00 (PN56,00,000

(E)  Answer not known

@A)

20 S Lsder @ s@5 GHEs aueuULELD LL e RF —— @565 Cauan(dib.
1 ' p s
A B
@ 10,000 ( ) 50,000
- i ' 1
e ey 48]

10,00,000 . 20,00,000
(E) oflen Qaflwelildency .
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129.

1130,

Emission of pollutants to the atmosphere can be reduced by

-.(A) | Adding water

(B) . Adding sewage

(C)_ Adding new pollutant

(DV Making prqper:changes (or) modification in raw materials
(E) Answer not known

L CoravGlumEe wraLESsIb 2 1pameal GansED el

(A)  Bey Ceriudanme

(B) . s1fley Heny Gairliuglanmed

(C) yIHwQsnm wres Geriudlenma

D)  weulurmeied sflwrar LrHprisE (<) wrHDEs@mer Qaiige

E) oo Ogfucidme

Effect of Air Pollution on paper result is

(AMEmbrlttlement
(B) Increase the welght

(C)  Decrease the weight
(D) Cracking
(E) Answer not known

STHSHHD STHD LoM&ELIT g 6 aﬁlcmena.i
A) ol Qurdssed

(B) erenL_eml 2FlaMSs6

(C) eoLouEodnsss

D)  AOfsa

(E) eflen @gﬂ wellévema
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131. [f M = Area in Km? Fanning’s formula for calculating the quantity of storm water

(Q) is
AF  Qisios NIt ol . (B)./Q = 3125 Mﬁfﬁ '
(C) Q=3125 M% | D) @=3.125 M%

(E)  Answer not known

‘M crsiﬂugj- sy &.8-6 urluaees GOISSTD, LY agfflar oememeus (Q)
FewTEE (HeUSDESTEN o Limesef]mid e GSS D

(A @=3.125 M¥ (B) Q=238125 M**

€ Q=312 M" D) Q=3.125 M**

(E) e&lenL Gasfwelivane

132. The most efficient shape of the section for the flow of water is
(A)  Rectangular - - (B Horse shoe
(N Circular (D) Oval

(E) Answer not known

Bt @U_Lib iflsa)b Sifsnns Qeomssis L aligaIeDLIE e e GHIHS
A)  Qsdious augaud B) @Herord
(C) e L angeud (D) SereulLid

(E) ofen Gaflwelerenew
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133.

134.

The size of distribution pipe diameter for supply of water to a fire hydrant should
normally be atleast

(A) 8cmtolOcm

B) 10cmtol2cm
(C) 12cmto15cm
(DV 15 ¢cm to 20 cm

(E) Answer not known

SWETLILESTES  MESLILIHLD aﬁl‘rf;?@lurra; @gprrtuascrﬁm edllL b Qurrgjsurras QG
GODeUTSEIMESE Fal_mg

(A) 8Qs.8upse 10 Qs.iS
B) 10 Q5.8 wpse 12 Q.18
(C) 12 @s.8 gpsed 15 Qs.15
D) 15Qs.5 wse 20 GQs.i8
B) Ao Asfudome

A vertical cylindrical tank resting just above the ground to develop the necessary
pressure, is known as : .

(A) Inlet pipe
(B) Vent plpe
(C)\/Stand pipe
(D) Outlet pipe

(E) Answer not known
Camauwnen sipsssms e manss gordadmbg shm Cula dmwbgeer n stiEss
2 (mener Ggmig. ererm BluiLiBeug
(A)  odefiepm

B)  smHm Ziewer

©) Poossssepn

D) QeueliCwHms Grmi

(E) e&fenr. QsMwelcranay
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" A long pipe is bored (or) drilled deep into the ground to tap the underground water is
called

(A) Open well

BrS Tube well

(C) Artesian well
(D) Infiltration well
(E) Answer not known

D PLOTET-GTEE S 2-6Ter g,mrm’fsm; g}@ BawrL UL apaLons SGUTT Sidag) ig fle LeTen]
er(huug -
@) Sps Serny
 (B)  aypsiener Hawny
(C) yrlieflwen SHewrm
D) @ear 960 Cragen &lemm
@  deitphusions

136. The process of removing the salt from water is known as
(A)s/ Desalination '
(B) Sed1mentat1on with coagulanon
(C) Aeration
(D) Zeolite process

-(E) Answer not known

samafidmps o ou Sispnib dswapapGu
(A) . o ULy Bésid
(B) sl QUTBEET LG WSS
(©) smpGomiLid
D) Hlwree Gswedpenm
E) oo Opfucidame
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137. The maximum permissible quantity of Iron and Manganese in water for domestic

138.

139.

purpose should be :
(A) 0.1 ppm ; (B)/O_.S ppm

(C) 0.6ppm | - (D) 0.8 ppm

(E) Answer not known

o arpm(H Gg)rré;aag,élgbarr& SemTan ey @ (HL LHMILD wrkisatelen sl g oiere,
A) 0.1 996> - i (B) 0.3 9Qerid

(C) 0.6 996> _ : ' (D) 0.8 derd

(E) ' eflenr Qzflwefdene

Floating matter of oil, fat and grease are removed

- (A) Sedimentation tank = (B) Septic tank

(C) Sewagetank _ (Dwkimming tank
(E) Answer not known : '

Ws&@E L QummLsermer erairblanis, Q& mipLiLy Loﬁ)gjfn Sifan yflweneu B&@EL cudlpenmwireng)
(A)  euerrL e Liglo Agmiig (B) Qslngs CLm :
©C) sfeyBrGsm 1y D) evdlibidlin GLri

(E) aeor QsfMweilevenew

\

“As per IS 1172, the water consumption per head for Domestic purposes for Average

conditions is taken as n
(A) 75 lit/day ' : (B) 100 lit/day

(N 135 lit/day | (D) 155lit/day

(E) Answer not known

IS 1172 énLiiq synef @m BUGSES Ggmmunm ﬁr‘r@asr'rm eTeGuETE B
(A) 75O/ mmer : (B) 100 &flirit/mpmer
©) 135ii/prer (D) 155 e it/mrer
(E) dflenL Gsflwedldvenay
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140. When an eccentric load is acting on a column, the eccentricity(e) should be

for no-tensile condition.

( AL/ section modulus ®) > section modulus
area of the section "~ area of the section
©) . area of the section ' ®) > area of the section
" section modulus ~  section modulus

(E) Answer not known

@ grenflled emww efasss LEpauTag Qewau@wlurg, ‘@uelmes Qoar Hawss e

awwl Qppéfe) __ aar @més CauamBib.
) Qeu_Hpss GemH0D B) > GQ-“-'—@(UJ&?S (BjﬂﬂTé?SLb

S GN&SECeulH urly GOSGEL{ Ly
(8] <_(ENSEHaC (R :_imju D) _@QJ&@QM_@ ULy

T Qe (upss Gansid @@-‘ LO@&s Gams

. (E) efen_ Ggrﬂu_laﬂdzmsu

141. If slenderness ratio is increased, the compressive strength of a column
(A)\/decreases (B) increases
(C) remains same (D) zero

(E) Answer not known
gramsafien Gwele eldlsb siHawmana, aggmLm SiIWP&E Smebr
A) @opyb s i B 2flswrEh

C) =Cs flavaruler @m&ELD (D) ymHdwiorgbd

(E) efenr Gsflwelvensy
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142,

143.

The moment required to rotate the near end of a prismatic beam through a unit
angle without translation the far end being simply supported is given by

(NS 3EL B) 4EI
I ; _ 7
C) 2EI 2 : o EI
b . i e

(E) Answer not known

@@ ulL sHepuder @ pamanude) @ W@ (‘SasrrmT,é;)g‘;]Gb SmuyeusnE ComeuliuBib
SmiLsnen erey oy (pevamuneng) safl (1) ereflu STk eenuns el LLELEUNE

@ 38 oy AKL
L . S

€ 2B oy B
L i L

(E) oS Qsfuaiome

The rotational stiffness of a prismatic beam element is
(A)./dijrectly proportional to its area of cross-section
(B) inversely proportional to its area of cross-section.
(C) directly proportional tb its length

(D) inversely proportional to its length

(E) Answer not known :

@M UL Ls ofl_L o muiden sphé edenpiiy
A) s GnEE el B url9nE Cpr e98s58e0 QHEGD
B) oiser GosE Qeul(® urlning erdli aﬁlélg,ggc,]éu.@@é;@m

(O g fersdie Coit efssHe Q60

D) g ferpdie adi dssH BHED
(E)  eflenr Qaflweleranew
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144. In moment distribution method, distribution factor for a hinge or roller support is

@ o | : (B)ll

(Cy 05 D) 2

(E) Answer not known .

Hmliyew udliorer wpapuie, em Sl acfocog;; o mevears sradlssrer udlieys smyewf

eTeUGUGTE?
ey i : B) 1
e me e D) 2

(B) oder Asfucipeme

- 145. A cantilever of span ‘I’ carrying uniformly distributed load of ‘w’ per unit length is
- propped at the free end to the same level as fixed, the bending moment at fixed end

will be s
Rl . : Gy
@ 2 (hogging) (B)'/ “L (hogging)
—wl? = : —u}i2 b
©) 7 (ogging) . D) —— (hogzing)

: .(E) ~ Answer not known

@ well Beorsdne @Gy &ms AHCUTEssILLL smwwurer ‘W @ &swoHE Csogid
T perd Qsrawr.. Csamgelaui efllLiworearg 2Cs wLLSSHEG ¢9|§5&T- sLOor penenuie
@L@és@a;br@ésxsuu.@él_m@. Hlevewirer @peveruded euanar &mLILEML eTeueTn @ (HEGL?

e o R
@ Y ogging  ®) 2L (gsing

—wi? —wl?
© %L (hogging) © =2 (hogging)

4 _ = 6
E) oL Gsfucome |
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148.

147.

A cantilever beam of span ‘' carries a point load of ‘w’ at free end and it is propped at

o R LI the free end then the prop reaction is

4w o : 3w .

(A) ? : : (B -
e w

© w el

(E) Answer not knbwn

‘T Bord Qamesm_ Ga;em.aﬂeurr Sibled ,rﬁlsmuuﬂ]susun Yerafluder ‘w’ per GewduBdng Gogib

| cwgrr_n@ grrrméﬂu_lrremgj — ﬁ;lsmsutﬁlsoeon qmaﬂufﬂeo B®Hs) @@E@LD Qumpg Bigem FTHIGLD

~ ergliredlenar

- 4w : _ ' 3w

@ = o =
: _ : w

© w : o

(B) e Gsfuciarae

- A simply supported beam of span ‘" is carrying a UDL of ‘w’ per unit length, if the .
~ beam is propped at its centre, then (in the shear force diagram) the shear force is
- zero at a distance of '

L e (B'I/ R
24 - L 16

©) %I from both ends e (D) %Z from both ends

(E) Answer not known

T Bergparer &ng,ﬁgm SIS 2 6Ter il L 1D <@TF DASET ALP(Y lr_%rarrLb. wuagb UDL ‘w’ L

. QaranLg sHE fasdo pHCw sTd Qmbs <isefar SFD ul_g;g%]a) emg,em SF e

Ulwinns G(meéEn

4) % sSHe Ao @M_ﬂmﬂ@m Bobsal
B % s1rsgle @ p@ensaligib Qnbs!
© 2 grpso 9o wwesdiad Qobs
D) %l— sEHd @mmaﬂ@@ AT

(E) dfenL Qsflweleoena
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148. A simply supported beam carries uruformly distributed load of 20 KN!m over-the
‘length of 5m. If the flexural rigidity is 30000 KN.m?, what is the deﬂectmn at its

suppoyts? :
(A 0 mm (zero mm) a8 (B) 1.08 mm
(©) 6.2mm : : (D) 8.6 mm

(E) Answer not known

@M Q@ aeflu wevear sTh EHED FLOLNS eﬁ]lr_ElGu_lrreE]asa;uuu_ geow 20 KN/m eow 5 m

BensHDE (PWEUSILNS HOBSTED, DS @@ (pamensetile easanang), g6 @D@Qm
eflenyiiy = 30000 KN. m?

A) ymHuo ‘Bl . (B) 1.08 5.8
{0 6.2 @.LS (D) 8.618.15
(E) _ afenL GgRweldame

149. The amount of moment required to resist unit rotation is =
(AL/ stiffness ~ (B) flexural rigidity
(C) bending moment (D) - deflection :
(E) Answer not known

S s HHLusme adi Qsmdrar GgameaIUBL Qubsslean Siete, atlg)
(A) v Liere B) QGearssred Mgy
(C) Quetmg i ppLoe_ 5 : D) eauaerey

(E) dfen Qgflwelecrane

150. In a simply supported beam carrying point load at its centre, the maximum
deflection will occur at

(AL/ Midspan gy (B) Supports
crds

(C) Throughout O % of its length

- (E) ~ Answer not known

Qm ereflu ween grdls st spep Laref smwew <igen eowl UGHWO SLEGD

Gurg AL sEb siFsuls clasa Qe QEELD.
A)  ewvwlued e - (B) wpoasefle
© vy dosdided @) el persde

(E) ofevr Qs mla‘j}ebsmm‘
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151. A frame in which the number of members is less than (2j - 3) is known as

152.

(A) Redundant .frame : | (B)\éeficiel‘:t frame
(C)  Perfect frame _ (D) Pin jointed frame

(E) - Answer not known

e pliysefan sramefisams (2j —3) g AL Goneauns @meEh sl Lssdlar Quuit
A) Gg,émcuu_l_rj)p SUL&LD . B) . Gapur@eTer FL G0
(C) slAuremelLsd D) qper @mwgﬁg, L&l

(E) &fenL Gsflweidane

A sheft is subjected to torsion, the shear force induced in the shaft varies frorﬂ
(A) Minimum at the centre to maximum at circumference

(B) Maximum at the centre to minimum at circumference

_(C)JZero at the centre to maximum at circumference

(D) Maximum at the centre to zero at the ci:cumference

(E) Answer not known

20 sanlh g WD6E AessE 2L UEDL Cuig g pRéE dws Capur® Geeury
BB ' '

A) ewvwl ueHuia Gaparse b g ellafibide ifswbrse b srarTliu@Hid

(Bj @l u@g‘,]uﬁ]eu 2Fsrse|b efaflibGle @m,r_r)mrrasml.b.asrrmm LB,

©)  ewwl uEHGe gg@mmmmﬁ) eﬁ]eﬂLbl_cﬂéo G HLNEa D sraTiILGLD

D)  ewwu u@ﬁuﬁle’n a,ﬁs.mrrasmm afleflbi9ed Yspadwiomsa|id srenriu(Hbd

(E) de Qzflueidama
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153. The stress induced in a rectangular beam below Neutral axis S’
(A) Torsion 5 - (B)A‘ensile
(C) Shear . (D) Bending

" (E) Answer not known
pOHo DFssS ECLP em Qsaiaus shapude) gHLELD g,ma;ajrrasrg
(A)  possbd | (B) Hemenio

©) poé&s (D) euemerey

(E) efe QzfAweldener

154. Circular Beams of uniform strength can be made by varying diameter in such a way

that

(A 2 o constant @B) < is constant
Z Sy

© % is constant : D) % is constant

(E) Answer not known

- @0 Lnrrﬁrﬂu._m'em cuedlenLouller a.uLL Al Lams erQumpg GeucuCeou el Ltb gpeOLD

2 (HeUM&E (LpigLjLd
Mo Pl :
(A) A erenLig LmHled - (B) — eenug) wmled
[ . y 3
©) % A D) % st e

€ oA Qsfucidoame
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155. Radius of Gyration of circular section is

d
(A) e

d
Sy

' (E)_ Answer not known :

@ eul L gdlem Crigwie o411 evsGraen

d
@ A
: d
e

- (E) - aﬁlm.n_@gﬂﬂu_:aﬁ]sbma)

'156.  Moment of inertia of a circular section about XX axis is.

v

zd

-
A d®
.(C) 16

(E) Answer not known

B)

(D

(B)

- D)

i g

S

d

|

d4
64
rd!

36

XX <5 uplu eul_ L 9feflen HlaveingSlen s(mentid

_ d*
A T
(_ ) 32

| d4
oL
© 16

(E) efle QsMucidme

@ '_ .

- B

D)

- xd*

64

rd*

36
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157. Elongation of the elastic bar shown below, having value of AE =8.4x10" N is equal |

to
; P=50kN «—— - P =50 kN
' ~, L=1000mm ,
= 2|
A A=0.179 mm (B).A = 0.595 mm
(C) A=0.508 mm (D) A=0.304 mm

(E) Answer not known

Spisngpib Bano pamgdn AE —énwfiy 8.4x10'N araflé> sigen S8

p=50kN < |  |——5 p=50kN
. L=1000 mm
b " :
@A) A=01798.8 (B) A=0.5956.5.
(€ A=0.508 8.8. - (D) A=0.304..5.

(E) derr Qzflweilerene

158. The shafts aré designed on the basi.s of
(A)  Strength and Material ' (B) Rigidity and Material
(Onf Strength and Rigidity (D) Strength and Tension

(E) Answer not known

Sar (DT Slig LiLenL_uléd Gulg euemLESILIL (HETaTg).
(A) euellenwo HmID Guimgwer (B) Qenpriy wpmid Quimmer
(C) auelevw HmD ellenmiiy (D) eusllenwo HYID @w

(E) el Qzflweilcrena
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159.

160.

strain is the deformation of the bar per unit l'ength in the direction of
force. '

(A) Volumetric
(B) Lateral
(C) Shear
(Dv Linear

(E) Answer not known :

ARy eramug s len Hevsuler g well SarsHn@ Ll AmsiLg
S GLD. : ' . R . : :
Q) arowtolfé
B)  usseur @
© ofui
(D) CpAwed

(E) &fenr Qgflwelecrency

A composite section, contains 4 different materials. The stresses in all the different
materials will be

(A) Zero

(B)\ﬁ)ifferent =

. (C) Equal

(D) In the ratio of their areas

(E) Answer not known

@@ souy Wflele 4 QeusuGeugy QummLadr 2 drerear. ai.mmgg GeueuCeuy QuimpL safle

: g;emsajggfn.
(A) Lpgpedluith

B) QacuCeumy

(C) swb

D)  seupfer ugdsaien AdgsH
(B) ofer Oflweiicoency
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161. The sun has less effect on thé Tides then moon because
(A) . Of its large Mass :
(BVOf its larger distance from the Earth
(C) Itisnot a solid mass '
(D) itis a star and not a Planet

(E) Answer not known

e fiafar Qi ssimibiids s GmpeiTe B 66618 Gurps Bosini
A) <=dsHeop @&rreﬁu‘rl_g;nés :
B yIGs ofs sEHe

© HPepuns Goens Cus

D)  oisioyd prssrb Cuogib Carer Gdeme

® o sfuddns

162. Remot Sensing 18 :

: (A)j)ollecting information without béing in contact with the objécts
(B) Measuring anglés | :
©) Mleasuring heights
(D) Using a total stations to collect data

(E) Answer not known - '

Qgmeve 2 awriTe, craLig)
A ehs Gungeenyib Gsm_mod @mis Qeudsmar GesfiLg
(B) Carewrmigemer ojemelL e |
©C) 2wrsms Sjereied
(D) Qs flemewibd eped e semar G;&%ﬂﬁ,gc‘o
(E) ofeni G]g,lﬂu_léﬁiabmm
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163.

164.

The. vertical distance between mid point of curve to mid point of long chord is
(A) Apex distance

(BL/Mid ordinate

(C) External distance

(D) Tangent length

(E) Ah_sw_er not known

eusméT_é?SlsﬁT Lo .qsh@ﬂéa@m Beromen g;.wsﬁuﬂsin @ww yearalsgn Qe Gu 2 drer QemtiGss
ENH®E ' '
(A)  od5gmbd

®  p6ud

(©)  Qaefuypgmn

D) Qgr@Gsr@ Herd
(E) o G!g_‘,ﬂwaﬁ]énemu

The desirable multiplying and additive constants of a tacheometer .are
(A) 100and 0.15 i

(B)n/l 00 and O

(C) 200 and0.3 .

(D) 100 and 0.05

(E) Answer not known

Fp0Cais oerefuied e Qﬁ@é;aasb DD Gl L6 omHled) <, 6075

(A) 100 wpmb> 0.15

- (B) 100 wpmb 0

(€ 200 wpmb 0.3
(D) 100 whmi0.05
(E) oQeni_ Qzfwelldene
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165. In Vertical Subtense Bar (Movable hair) method
(AV The staff intei’éept is made a constant value
(B) The distance between cross hairs is kept constant
(C)  The Multiplying constant is made 100
(D) The additive constant is made zero

(E) Answer not known

Qeiu@sg eSipeuany &L LD (BS(HLD &Lbi_‘ﬂmif) (PTG

A) s augdlen GN&S0H el wlmu 2 HaTEGLD

(B) EN&E sbIsENHE GoLCGu 2dar gﬂ.ﬁb @ LrHleuns
). BuinkeCars briiitdaes '
D) sl ( Osrens LI Lgeuions

(E) oL Osfiuddaoms

166. Consecutive co-ordinates is also known as
(A)/ Dependent co-ordinates
(B) Independent co-ordinates
(C) Total co-ordinates
(D) Total latitude and departure

(E) Answer not known

G]g;rrt__fre';é]mfrm 2 HiFS T Lo Quuwit
' (A) ETTL| DI DAFHSET
(B) swrSaoner i ESSET
(C) Qwiss W BEFGHET
(D) Qurss oi_sCrens LHMID qpﬁun@
(Ej efen Qgflweilcensy
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167.

168.

Use of contour map is to determine the

(A) Cross section of area
(BVTopography of area

(C) Longitudinal section of area
(D) Intersection area

B

Answer not known

FLO6T euenTUL LD @)senar el LiwieruHd g

@A)

(B)
©
)]

(®)

In Prismatic compass, thé_ 0° or 360° is engraved on the

GG Qeul_( upliLaTey
Hleodurdder upliuere,

CpR&EG deul (B wagdler LrLuerey
Qe Geul @ UFJL'JI_-J.GYTQ.|

eflenL Qg,rﬂmeS)ebwso

(A)/South end of the ring
(B) North end of the ring
(C) East end of the ring

(D) West end of the ring
(E) Answer not known

UL & Sevswerefuder 0° (1) 360° eramisy @i, QurdlEsIuL 14 (HE&EGLWD

A
(B)
(©

-(D)

(E)

cuanemGSlen QFH(E (pener
cueneTILIG S 6 sm-_é;(g (penen

eueneTwGSlen £Lp&E (peves

.mmmwgﬁs'm G pener

Gﬁ]wl_.G]g,rﬂu_:aﬁ]ebmaJ

83
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169. Surveyor’s chain is alsﬁ known as
(A) Metric chain
(B) Engineer’s chain
(C) Revenue chain

(D)., Gunter’s chain

(E) Answer not known

SieTSesW e Fhdled erarlig)
(A) Qui_M& srudled

B  Qlrdune stfid
©  apanisndd

D) @an e srdel

€ oflerr Asfuciiieme

170. The obstacle which obstructs chaining but not vision 1s
(A)\/River
(B) Hil
(C) Raising ground
(D) Thick forest
(E) Answer notl known

srdlel Hlev sierenauulen Gurg, Gr;'r)‘é‘,_ @ sGLIUTE unTaeew $HES DG
A) o '

(B) wveo®

(€) 2wmomer Hlew

D) s isdurar si@ser

(E) eofler Qsflweievene
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171. The discharge of double acting reciprocating pump with area of ‘A’ m2, Length of
stroke ‘L’ m and crank speed of ‘N’ rpm is given by

ALN . 05 ALN
W o &
of 248 @) 2 AN

(E) Answer not known _

@QrieL Qewe afemsullusss Gpruler G@@ﬂ(‘ém,ﬁjmmmﬂg, sigg@ieL_w ugly ‘A’ S fernd L

B wHmib Ceusd ‘N’ rpm erafled

ALN : 0.5 ALN
(A) —60 | (B) Fi o
e B ALN _
(©) = (D) 2ALN

(E) eflenL Qg flwelcrenen

172. The discharge through a rectangular channel is maximum when
m — Hydraulic mean depth
d - Depth of flow

| d ' _ ’/_d
(A m=— : . (B m—E

9 _
© m-2 D) _"”'?.
(E) Answer not kndwn
Qssueus sraeuren auflwins G]ésbgul.b Bifletr ey GI'I;I@LJ.I'I‘@Q 2 FFLONE @@é;@l.b
.ml - ‘rfﬁrﬂu,lco gynefl b |

d-gligflen aypid

N = e B a?
© m=2d g @ m=22
(E) el Gsflweldame '
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173. The discharge through the internal mouthpiece running full is given by

(A) 0.5 a+2gH ~ (B) 0.85 ay/2gH
(C)~/0.707 a/2gH | (D) ay2gH

(E) Answer not known

Hiflem gL L_Lb WS @) (HEEGD Qum(pg), 2 o 2618 'aSl&TGGUGrﬂGUJ,rj)g)Lb
@ CHCY ARG (C22 CFY

(A) 05a+2gH (B) 1085 ay2gH

©) 0.707 a2gH | (D) ay2gH

(E). oo Qsflwefevene

174. 'The loss of pressure head for the Laminar flow through pipes varies .
' (A)  As the square of velocity ' (BH;E
(C)  As the inverse of the velocity (D) As the cubic of velocity

irectly as the velocity

- (E) Answer not known

694-®é;@5rr1'_1_ umieilen Si(pss QpriL) 2wy @smg, aeuEg) DmmLIED

A) elesuller Q@ SIHES (B) efensullen @prjtq_urfa;

©) wassepnelpns (D) efevsulen apenm SI0ES
€ oL Asfluciome |

175. The coefficient of discharge of Internal Mouthpiece running full is givén by
(A)./ Do : (B) 0.850
(C)  0.500 SRS
(E) Answer not known '
2 @1 LGHD Hamh Q&S algw “_mmgﬁefu" <pang Hfler glLb aprpeowns @_@é;@x__b_.
Qurrpas s Geuaflui (B Geab g ' ;
@) 0.707 ' (B) 0.850
@ 008 LTy 0.800
(B) oo Osfusioma

CECI/2021 " 86 | Ry



176. - The loss of head due to sudden contraction of a pipe is equal to

2 ¢ : 2 :

L s

(A) (Cc 1} i (B) (1 CCJ 2¢
e 14 n ey :
S (D’/-E;[E‘l}

(E) Answer not k'now_n

20 G S Qran sHEsILOUSTD BT G LSS qrju@da g_d_u;r‘ej;,é,]sh QUi g

o 1Y 5
@) [a._l] = o {1"5;} =
1 VE & v .1 "
(©) C—c[l—ng . (D) E(an_l]

(E) Gﬂ'sm_ Qs flwelerane

177. The loss of head due to friction according to Darcy’s formula is

4 flv® : . 4 flv?
@w £ e
o & @

2gd &d

(E) Answer not known

Darcy’s efflufler Lig Sflem @ity 2 gmiellen ppewons ghu@id iy =

4 fk? ' 4 flv?
A) i | B) 22d
e ' i Ay
©) 2gd : D) o
(E) eAenL Qs fwelerens
® . ' 87 : : CECI/2021

[Turn over



178. Surface tension has the unit as
(A)  Force/unit area
_ (B)s/Force/ﬁn}t length
(C)  Force/unit volume
(D) Area x Length

(E) Answer not known |

ugliy @@Gﬁlm& S|V TS
(A) aﬂm&?&m@ UrLIUeTEy
By ‘aﬁlm&/asu@ Bemid

.(C) _ Gﬂ@&/ 3@ QameTerena]
D) urduerey X Berid

(E) SlenL Qaflwellerenc

179. The pressure of a liquid measured with the help of a Piezo meter tube is
(A) Vacuum pressure | I
(BL/Gauge pressure
(C) Absolute pressure
D) . .Atinospheric.pressure'

.(E)_ Answer not known

GuGer BLLE @emi gob @6 Srausfla SWssEDS S@THEL_LILLLTD  DIbBS
A(PSFLOTaS) ' 5

A) Geapdl. owssw

B)  swe Siwbs

(©) LB Cwrss AWs5D

D)  euefloam o S(@Es0

(E) ofen Qsflwedeoenen
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180.

181..

Atn:o;:h’eric pressure is also known as
(A) -

(B) Intensity of pressure

Barometric pressure

(C) Vacuum pressure
(D) Gauge pressure.

(E) Answer not known

- auaflnair_e SI(PSSD GTETLIG)

A)  urGyrQuwl A& oissb

B)  Sysssden Sellyd

(©) Qe =igssid
D) urews SipsSsD
(B) derr Qsflwelicvanew

The impact of disasters are indicated

- (A) - Social -

(B) Economical

; (C) Social and economical

(D)/Social, economical and health
(E) Answer not known

- Gufiri g,nésagémg, THDOET DEUSS @gS]és&ng)ﬁLb

A) sepgTund

(B) Qumpergmb

(C)  supsmLID wHHID Gurr@afrrg_,m;r& :

D)  swsmub, QUIEBETTSTID WHMID 2 L BB
(E) oleoL Qsfuciidma
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182. Pres_ent Value Index (PVD)=

(A) Cash inflow — Cash outflow .

(B) ~ Annual Retum % 100
Investment

Initial Investment
(©) Annual Return

' / Present value of future cash inflow % 100
; ( Present value of future cash outflow

(E) Answer not known

sHGUTeSWI i (196Sg) =

A)  uew augay — Lt (Hsee)

C-LICH

(©) _<SpLDL L0
: QBB eumeumL

ardrane ueTIL|p&ssHen sHGuremgw iy « 100
adlirane uamsden sHGurasw LAY

®)

(E) eflenr Qsflwellevenew
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183. When rates are being fixed per unit quantity of each 1tems of work and agreed by the
contractor is called?

(A) Lump sum contract

(B) Lump sum and schedule contract
I(C)./Unit rate contract

(D)  Service contract

(E) Answer not known

@G}JG@JW@ Cauaneo Gurr@srﬂsu? SIVEG SlaTay aigid ﬁrrmﬁasesuu@m Gurrg @uu;ogsgrrrmrrm
@uqa;@&rrm@rruu@a.r@g,

(A) G_Lmrg,g, @UIUBSLD
(B) Qurssapid LJ.I.:_lq_U_JbﬂI_DL!I'_I_ RUILIBSAPLD
©) 0@ hds pripsd
:(D) Greneu gliLIBSLD
(B deAsfudame

184. Critical activity has
(A) Maximum float

Minimum float

' (C)./Zero float

(D) Average float

(E) Answer not known

R p&slworer dewaur® (Sl gad Qeudun®) & g a.ei'rm!g;?,-
(A) <ifsule Blgemeu
- (B) GonpsuLs Lﬁlgméu
O udud O
D) Qungeurar Bgemar
(E) efer Qpflwieficrane
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- 185. Zero float for any activity means that the activity ié
(A)I Super-critical :

(B) Sub-critical

(C)w/Critical. :

(D) Not critical .

(E) . Answér not known

arBE@aumh QFLISELD Lyl Lﬁgm'm GEU__IG'})LIIT@.
W S e

®)  geovar psduid

C) @psdub

D) @sdwiae

E) oflen. Qsfucidame

186. What is the volume of cement required for 1m? cement concrete with 1 : 5 : 10
proportion using 40 mm aggregate?

(A)J0.095 m3

(B) 0.95m3
(C) 0.475 m?
(D) 0.116 m3

(E) Answer not known.

1:5: 10 e9élguy e eter Sedllamm srandfi g 1md sreandlfilé@ 40 mm Gsmemr
FiseTH® T Lweu@RSEID Gung) ereueuetey Camdrararey Sflain._ CaeauiuBb?

(A) = 0.095 53

(B) 0955
(C) 0.4758°
D) 0.116 &3

(E) &ferL Qaflwelferenew
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187. The administrative and technical .head of each bfanch of engineering department
(AMI‘he. Chief .Engineer
(Bj The Superintending Engineer
(C) The Minister |
(D) The Administrative Officer

(E) Answer not known

Cumrdludwed gienpullen @éi@?ﬂrr@ Sevemuder flireuns wHmitb AsmflepiL L gm@mﬁ
(A)  seeemin QurBlumert : '
- B s@msrefliy Qurdlwmert
C) simwés
D) Aireurs sigeueoi
(E) e Gsflweldeme

188. Animation in construction management is a
(A) .Construction technology model
(B QC model '
(CL/Simulation model
(D) CPM model

(E) Answer not known

&L_(Hmer blTeurasdlen @-[GﬁﬂGLDG}q:éH GTGUTLIZ)
(A s @wrer @g;rrkﬂsbgn'_u .LDlTﬁlﬂ 5
B) Hyd wrH

(©) g@m'é;uu@ggg,@ org)l

D) AQend wrdHA

(E) el Asflweldwene
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189. The good planning of a civil engineering project depends on
(A) Proper time keeping |
(B) Weather condition
(©) Selection of huge number of labours
: (D)./P_rOper design
(E) Answer not known

@ sigL Qurdlwrert SLsHlern pere ﬁLLﬁSlLdJ aos QUINSSS
@A) - Apps Cprbmss 566 @abHD |
B) araime Hubsmen

©) Quiiu cramellsms@orar Agmiloraiamer QsfbEsHEsH

D) Spbs eugeuanioliy .

(E) eflenr Ggflweilévenad

190. The fundamental managerial functions which i_nvdlves reviewing the difference
between the schedule and the actual performance of the project

(A) Project planning
(B)./ Project controlling
(C) Project scheduling
(D) _ Project surveying
(E) Answer not known
AL i L aumans@h HLsen &meurrm-@&ud@;n@é@tb @anulemer Geumuim_enL
o pie] Geiuyb fifeurs Geweaur® ereug
@) HLbSHLBe
B) Hlib sl OUUESESS
©) Sl ul g Gs®
D) diL serei(
(E) e Ggﬂu_leﬂsbwm
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191.

192.

Calculate the quantity of plastermg of wall (Two faces) havmg length as 4 m, and

“ height as 3 m

(A) 20sq.m
(B)./24 sq. m
(C). 18sq.m
D) 16sq. m

(E) Answer not known

I_ Bemd 4 15, gyaed 3 S 2 wyorsed QmEGL Qream® @a;rémmﬂs’mﬁasufﬂs‘o‘r wés Ceuama

SieTen6 SHenTéEd (D hiGeT

(A) 20 sgy S

B) 24sgpbion

(C) 18agy Lﬁl'_l_f'r .

D) 16&zmpSii _
(E) o&fenr Gsflweldene

Name the formula to calculate the volume of earthwork from contour plan for filling

~ a depression or pond and for cutting a hillock

(A) Trapezoidal formula

(BN Prismoidal formula

(C) Mean sectional Area method :
(D) Mid-sectional area method
(E) Answer not known

gwhleanesCan® cumpuLgHedlmmg LeTemDd DIV E) @arsdlenar Hlylin %mmuneﬁme&wmﬂs&r :
& BeT6| WHMID GenMed(mbHs Gmu:,.@m@a;&.uu@m wewrenfler sear erellanen SanTddlL

: aga.u.n @GS rsder Quwfenar GHLIGAHS

A) slleus Gadrw
B ulLs @SS

(C)  &rref Qeul (B LgliLaTey WPED

D) pEHCeuL@ upliueTey WD
(E) &fenr Gsflweleensw
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193. Which of the following is known as general overhead?
(A) Losses on advance

(B) Interest on investment

(C)\/I‘ravelling expenses
(D)  Aminity to the labour

(E) Answer not known

Spsramuameusafled ereneu Quingieurear GopGawelle aumd
@)  @adsnems (o) @i

(B) ey aprEged (=) Casluy

O Ak

D) Ceaumawr saflar Csame

E) oL Gsfucideme

194. The unit of measurement for Earthwork in hard soil is
(&) m? . (B Kg
© m '  oMoum

(E) Answer not known .

siqanivar Qe L Coumaew ahs i Asman® SiersdCpmib?
(A) 82 | B) HCwrdymd
(€ _iBtaw (D) semBlii

(E) &lev Qsflweleoensd

CECL/2021 96




195. What is the cement required in kg using thumb rule for cement mixture 1:6-1m3?

&) 480 kg
(B) 360 kg
(C) 288kg

(DN240 kg
(E) Answer not known
slanL eflyed eflflemwit u‘ms&ru@éﬁgﬁ HQwanr sewemeu 1:6-1 53-5@ ereueuarey é]@éun@grrm :
- AQwenr CaemeuiBEme?
(A). 480 &Gandlgmd
(B) 360 fiGendlgmb
(C) 288 HCwrdymd
(D) 240 HCewrdlymd
(EB) oo Qe

196. The weight of one bag of cement is

(A) 45ke
B 50 kg
©)  60kg
@) 65ke

(E) Answer not known

@@ Sslarr_ 1pLenL_udler eTenL eraiLIg,
@ 45 ACeon Aymd
B) 50 ACar By
(C) 60 &Cer Aymbd
D) 65 &Cer Hymb
: (E) allanL_ Qg)ﬁluaﬁléocmu

o ' ' 0 cg . CECI/2021
: : : [Turn over



197. Units of dimension for brick material in metric system is
(A)  Breadth
(B) Length
| (C©) mm
(DN cm

(E) ; Answer n_oi: known -

@Lnl;_rﬂ.s}s Siewlibéd Qemisd QuTmHLsEhssner urﬂmrravflﬁl_asqﬂm SlGH6T
@) ssen ' ' |

(B)  ferd

€) el BrLir

D) GEnaBiit

(E) &fer Qsflweldvene

198. The brick work is not measured in cu.m in case of
(A)  One or more than one brick wall '
(B)  Brick work in arches
(C)  Reinforced Brick work
(D)s/Half bfick wall

(E) Answer not known

Qeruspaeiien iere; &psam_apBle aghE m® Sieredld a®s86 QamereriiLaddma
A) e éls'uéug <150 G L Q&rﬁ:&;ﬁ) seuir e
(B) auameareysafiier Qamise Geuana

(©) m@@bLLDuLL QeruseCoiena

D) iy Qemse &eurm

(E) elen Qzflwedlerena
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199. The quantity of wood for the shutters of the doors and windows is calculated in

200.

(B)

©)

D)
(E)

: (A)-/ m?2

lump-sum
m3
m

Answer not known

&56 LHMID Reanarasafld wrsHer eTaneu Grﬂs‘u sas&[H Qelwuiu@Sng?

A
(B)
©
(D)

®

182

Quorgs wHiuns

5 i

5

aflemL G]g,rﬂu_la‘ilsb.ww

What is the unit of measurement for ‘half brick wall’?

(A)g/Square metre

B)

©

(D)
(E)

Sy Qsrise saufien SiaTEsILEID SIOE T8l?

(A)
(B)
©

®)

(E)

Metre
Tonne
Cubic metre

Answer not known

&gjmﬁ (W
B
LG
semBr L

eflen Agfwellcvana
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10.
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IMPORTANT INSTRUCTIONS

You will be supplied with this question booklet 15 minutes prior to the commencement of the examination.

This question booklet contains 200 questions. Before answering the questions, you are requested to check
whether all the questions are printed serially and ensure that there are no blank pages in the question
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Answer all the questions. All the questions carry equal marks.
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write anything else on the question booklet.
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ONE answer for each question. If you shade more than one answer for a question, it will be treated as a
wrong answer even if one of the given answers happens to be correct.

You should not remove or tear off any sheet from this question booklet. You are not allowed to take this
question booklet and the answer sheet out of the examination room during the time of the examination.
After the examination. you must hand over vour answer sheet to the invigilator. You are allowed to

take the question booklet with you only after the examination is over.

You should not make any marking in the question booklet except in the sheets before the
last page of the question booklet, which can be used for rough work. This should be strictly
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In all matters, the English version is final.

Failure to comply with any of the above instructions will render you liable for such action as the

Commission may decide at their discretion.

CECI/2021 ' &



